Polity Section - SET D i E

001. Which ¢
ne of the following is the principal agency for preventing corruption at the level of Central

Governmento

A S e

(A) Securities anqg Exchange Board of India
(B) Central Vigilance Commission

(C) Intelligence Bureay

(D) Research & Analysis Wing .

!

- 002. : o

002. As per the 73rd Constitutional Amendment Act of Panchayati Raj, who specifies a “Village”?
(A) Taluka Development Officer (B) District Collector
(C) Chief Secretary (D) Governor

003. One of the following is not a benefit of e- Governance to the citizens:
(A) Government services swiftly and dlrectly reach your doorstep
(B) You can access a host of government services right from the comfort of your homes
(C) It leads to cost and tlme-eﬂ"ectlveness s

(D) It makes government and citizens dependent on IT compames

004. What are the objectives of India develbping Chabahar Port in Iran?
a. Provides easy trade access with Arab countries
b. .Cuts down goods transport costs/time for India
c. Road access to Afghanistan’s four cities .
d. Develops access to Central Asian markets

Select the correct answer using the codes given below:
(B) a, b & d only

(A) a,b & conly.
(D)a,b,c&d

(C) b, ¢ & d only

005. Which of the following have agreed to reestablish Home Land Security Dialogue?

(A) India and England (B) India and the US

(C) India and Russia (D) India and France
006. Where is the BIMSTEC Secretariat located?

(A) Dhaka, Bangladesh ' (B) Kathmandu, Nepal

(C) Bangkok, Thailand (D) Thimphu, Bhutan

e following country emerged as the top trading partner of India in 2022?
(B) China £ ‘
(D) Germany

[CSP-1] rro. [EN

007. Which of th
(A) United Arab Emirates

(C) United States
[
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008. Consid
er the f01|0wing in relation to the Saansad Adarsh Gram Yojana (SAGY):

:'. lltt :Vv: ll:::dl:ed in the year 2014 |
e ]aunc ed on the birth anniversary of Lok Nayak Jai Prakash Narayan
ched on the birth anniversary of Deendayal Upadhyay
d. The goal is to translate organic vision of Mahatma Gandhi into reality
Select the correct answer using the codes given below:
(A) a,b & d only (B) a, ¢ & d only
| (C)b & d only s 4 (D) ¢ & d only
009. Which one of the following schemes is aimed at increasing the confidence of young, educated or
skilled workers who would now be able to aspire to become first generation entrepreneurs?
(A) Vidya Kaushal
(B) Pradhan Mantri Mudra Yojana
(C) Pradhan Mantri Kaushal Vikas Yojana
(D) Seekho aur Kamao

010. Which of the following schemes facilitates bank loans to at least one Scheduled Caste/ Scheduled
Tribe borrower and at least one woman borrower per bank branch for setting up greenfield

enterprises?

(A) Pradhan Mantri Vaya Vandana Yojana
(B) Dena Shakti Scheme '
(C) Pradhan Mantri Jan Dhan Yojana

(D) Stand Up India Scheme

Oil. One of the following is not a correct statement in relation to the “One District One Focus Product

(ODOFP)” Scheme:
(A) It covers products of agriculture and allied sectors

(B) It covers all the districts of the country
(C) The Ministry of Food Processing Indu

Scheme : _ ;
(D) The Scheme covers financial, technical and business support for upgradation of existing micro

food processing enterprises

stries’ (MoFPI) provides financial support for this

012. What is “A Step Towards a Sustainable Future (STAT)” Scheme?

(A) This is a scheme on Compressed Bio Gas (CBG)
(B) This scheme targets reduction of carbon emissions as per COP-2

(C) This scheme aims at bridging the gender gap in population
(D) This is 2 scheme on the development of Electric Vehicles (EVs)

arliament of India can make use of the residuary powers

(A) At all times

(B) Only during na
(C) During national emergency a

(D) None of the above
g
[CSP-1] [P.T.o.‘ﬂ

tional emergency
s well as constitutional emergency as well in a state
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014. Statement
s
for “Fundamental Duties” are mentioned below. Evaluate the same

a.42nd A
86th Amme“dment Act of 1976 added 10 Fundamental Duties to the Indian Constitution.
endment Act 2002 later added 11th Fundamental Duty to the list.

b. Swar .
ey f:]l: Smgh Committee in 1976 recommended Fundamental Duties, the necessity of which
during the internal emergency of 1975-77.

¢. The 7
Fundamenta] Duties are dealt with Article 51A under Part-IV A of the Indian Constitution. '

d. Fun . .
" trudalm eftal P“tles are categorized into two— (i) Moral Duty: cherishing noble ideals of freedom
ggle (ii) Clvip Duty: respecting the Constitution, National Flag and National Anthem.

(A) a, b and ¢ are correct (B) b, ¢ and d are correct
(C)a,c,and d are correct (D) all are correct

015. Evaluate the statements.

1. ARTICLE 268: Consolidated Funds and public accounts of Ir ceived
by the Government of India, all loans raised by that Governme fe1 247 - Dvmes  Jevees 4,’9(1 by
that Government in repayment of loans shall form one consoli fy (v for louccrer ¢ 1 tHE
Consolidated Fund of India”, (2) All other public moneys re« /) b te Swies of the
Government of India or the Government of a State shall be cre Jar- 48 - Towes Jevico P it of.
(3) No moneys out of the Consolidated Fund of India, shall be app gpriated exc: n dance
with law and for the purposes and in the manner provided in thi ﬁjfﬁzwﬂ; ; ffm

(7

2. ARTICLE 269: Contingency Fund. (1) Parliament may by law ¢, Fund
in the nature of an imprest to be entitled “the Contingency Fund of India” into which shall be
paid from time to time such sums as may be determined by such law, and the said Fund shall be
placed at the disposal of the President to enable advances to be made by him out of such Fund
for the purposes of meeting unforeseen expenditure pending authorization of such expenditure

by Parliament.
(A) only 1 is correct ' (B) only 2 is correct
(C) both (1) and (2) are correct (D) both (1) and (2) are not correct

- 016. Evaluate the statements.
1. Constitutional Bodies : Constitutional bodies are important bodies in India that derive their

powers and authorities from the Indian Constitution. They are specifically mentioned in the
Constitution, meaning they have dedicated articles.

« Important bodies such as the Finance Commission, the UPSC, the Election Commission,

the CAG
2. Statutory Bodies :

— For example, the Sec
NHRC, Unique Identi

| (A) only 1 is correct
(C) both 1 and 2 are correct.

« They are created by an Act of Parliament. Or the legislature.

urities and Exchange Board of India (SEBI), National Law Commission,
fication Authority of India (UIDAI)

' (B) only 2 is correct

(D) both 1 and 2 are not correct

017. The present Lok Sabha is the
(A) 14th Lok Sabha

(C) 16th Lok Sabha

i T [CSP-1] rro. Kl

(B) 15th Lok Sabha
(D) 17th Lok Sabha
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018..

019.

020.

021.
‘ 022.

023. .

024,

025,

The pension of 5 high court judge is charged to the

(A) Consolidated Fund of India

(B) Consolidated Fund of the state where he last served

(C) Consolidated Funds of the different states where he has served

(D) Contingency Fund of India

The members of the Rajya Sabha are

(A) directly elected by the people on the basis of universal adult franchise

(B) elected by the members of the state legislative assemblies

(©) elected by the members of the state legislative councils

(D) elected by the members of the state legislative councils and state legislative assemblies

Consider the following statements:
1. Each village, demarcated as per the Census, must have its own dedicated Gram Sablia drid
Gram Panchayat.

2. Anyone who is eligible to vote in Lok Sabha elections from a parﬁcular village can also vote in
Gram Panchayat elections.

Which of the above stat_ements is/are correct?
(A) 1 only (B) 2 only
(C) Both 1 and 2 : (D) Neither 1 nor 2

- Kalighat school of Painting belongs to which state of India?

(A) Karnataka . (B) Mizoram

(C) West Bengal : ' - (D) Jharkhand

Legendary Indian classical dancer Kelucharan Mohapatra was exponent of which art?
(A) Kathak - o . (B) Yakshagana

(C) Odissi dance (D) Mohiniyattam

Who is the only woman writer of Assamese language won the Bharatiya Jnanpith award?
(A) Mamoni Raisom Goswami (B) Manikuntala Bhattacharya

(C) Arupa Kalita Patangia ' (D) Karabi Deka Hazarika

Which performing art forms are inscribed in the UNESCO's intangible heritage list?
(A) Bhavai, Tamasha, Jatra ; (B) Mudiyettu, Chhau

(C) Yakshagana, Swang, Nautanki (D) Lavani, Garba, Hudo

Which one of the following is the traditional attire of the womenfolk of Tripura?

(A) Rignai ' (B) Chhar khela

(C) Mekhala : (D) Bakhu

[CSP-1] [P.T.Om
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056. Who is the only Gujarati person to be conferred with India and Pakistan’s highest civilian award?

(A) Balvant Mehta (B) Pherozeshah Mehta
(C) Morarji Desaj (D) Jivraj Mehta
057. Which book written by Mahara_]a Bhagvatsinhji-Maharaja of Gondal is a travelogue?
(A) Journal of a Visit to England in 1883 (B) Ek toonki musafari
(C) England ma pravas (D) Briton ma pravas

058. Which garden of Gujarat has the trees and plants of rare species?

(A) Green park (B) Waghai Botanical Garden
(C) Parimal Garden (D) Hanging Garden
059. Hastagiri temple in Gujarat State belongs to which religion?
(A) Jain ‘ (B) Buddhism
(C) Vaishnavism (D) Swaminarayana

060. Bommalattam, the Puppet Dance, is the art of which state?
(A) Sikkim : (B) Meghalaya
(C) Tamil Nadu (D) Andhra Pradesh

s

061. A State Leglslature may provnde for the representation of which of the following persons in a
municipality?

1. Members of the Lok Sabha and the state legislative assembly representing constituencies that
" comprise wholly or partly the municipal area.

2. Teachers and graduates living within the municipal area.

3. Persons having special knowledge or experience in municipal administration.
Select the correct answer code: '

Aa1,3 : 32,3

(C) 1 only : D) 1,2,3

062. The President can dismiss a member of the Council of Ministers
(A) On his own
(B) On the recommendation of the Prime Minister
(C) Only under emergency conditions
(D) With the consent of the Speaker

063. The NOTA voting option is applicable in
1. State Legislative Assembly Elections

2. Lok Sabha elections
3. Election of the President and Vice-President

Select the correct answer code:

A) 1,2 ' B)1,3
©)1,2,3 (D) 1 only
[CSP-1] ~ [PT.0.
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064. Consider the followin E

g statements re i i -
1. The Constitufiop 1 garding Election Commission of India,

. as not specified the t s
2. The Constitution b erm of the members of the Election Commission.

sdebarred the retirj i csat
by the Govertiment Iring election commissioners from any further appointment

3.1In case of (j
1 s . °
election com:?r"lnce of opinion an.longst the Chief Election Commissioner and/or two other
15Sloners, the matter is decided by the Chief Election Commissioner.

Which of the above statements is/are correct?
(A) 1 only '

o113 B)1,2

D) 1,2,3

. Whi : Gt
065 hich of the following are the provisions for independent functioning of the UPSC?

1. Th i
e chalr.mzim can be removed from office by the President only in the manner and on the
grounds similar to that of a judge of the Supreme Court.

2. The entire expenses of the UPSC are charged on the Consolidated Fund of India.
3. The chairman is not eligible for further employment in the Government of India or a state.
Select the correct answer code:

A)1,2 ®)1,3 (©)2,3 D) 1,2,3

066. Which of the following bodies have the leader of the Opposition in Rajya Sabha, in their
appointment committees? :

(A) The National Human Rights Commission
(B) The Central Vigilance Commission

(C) The Central Information Commission
(D) CEO of NITI Aayog

067. Consider the following statements regarding Law Commission of India.
1. The Law Commission of India is a statutory body constituted by the Government of India from

time to time.
2. The commission is reconstituted every five years.

3. The Law Commission shall suo motu, undertake research in law and review of existing laws in

India.
Which of the above statements is/are incorrect?
B)1,3
Aa1,2 (B)
©)2,3 (D) None of the above

068. Consider the following statements:

1. Right to cast a vote in elections i

s neither a fundamental.right nor a right under common law.
r vote from jails through postal ballot.

2. Prisoners can cast thei

.

(a4 oply o o (D) Neither 1 nor 2

(C)Both 1and 2
[CSP-1] - rro. Bl
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069.

070.

071.

072,

-

The Constitutiop E

of India lays d : .
thie fOllowing Sanmer Ys down a functional Separation of the organs of the State in which of

1. The Pres;
President or the Governor shall not be answerable to

Performance of the powers and duties of his office,

any court for the exercise and

3. Parliament cannot discus

: s the conduct of the judges except when th i
Judge is being carrieq out ’ p' o ri

Select thg correct answer code:
A)L,2

©153 (B)2,3

. D123
Consider the following statementsﬁ

1. The laws made by.the Parliament are applicable to all the states of India.

2. Under no circumstance, the laws made by the state legislature are applicable outside the state.

3. The laws of the Parliament are a

pplicable to the Indian citizens and their property in any part
of the world.

Which of the above statements is/are correct?
(A) 1 only
013

.(B)1,2
M1,23
From a rectangle PQRS of area 768 sq cm, a semi-circular part with diameter PQ and area
7271t sq cm is removed. Then what is the perimeter of the leftover portion?
(A) 86 + 121 ' (B) 88 + 121
(C) 68 + 141 (D) None of the above

(Direction : Question No. 072 and 073) In both the questions, two statements and two conclusions
are given. You have to decide which conclusion / conclusions follows / follow logically
statements.

to given

Statements:

L. All horses are elephants
II. Some elephants are cows
Conclusions: '

I. Some horses are cows.

" II. All horses are cows.

Choose the right option from below. .
(A) Only conclusion I follows (B) Only conclusion II Afollows
(C) Both I and II follow (D) Neither of them follows

0

[CSP-1] 6)-F0 [PT.0. m
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138.

139.

140.

141.

142.

143.

144.

145.

146.

Name of the ruler of Gujarat who defeated Muhammad Ghori in 1178.

(A) Bhimdev I 0 1 (B) Bhimdev II

(C) Mulrajdev v ‘ (D) None of the above
Who was the Sufi imprisoned by Jahangir? j

(A) Yahiya Sirhindi _ : (B) Mia Rasul Sirhindi
(C) Shaik Ahmed Sirhindi : (D) Islam Sirhindi

Who was remembered for the Doctrine of Lapse policy which many hold directly responsible for

the Indian Revolt of 1857?
(A) Lord Dalhousie (B) Lord Canning
(C) Lord Wellesley (D) Lord Lytton

Which Article of the Constitution of India empowers the Parliament to amend any part of the

- Constitution without affecting the “basic structure’ of the Constitution?
(A) Article 366  (B)Article 367
(C)Article 368 = B (D) Article 369 e ‘ ‘
The Indian federal system is based on the . ' ‘
(A) American Model ‘ (B) Canadian Model
(C) Australia Model (D) Norway Model

many alternatives are provided to the President of India under Article 111 of the Constitution

How
‘regarding a Bill passed by the Parliament?
(A) Only 1 (B) Only 2
 (C)Only 3 (D) Only 4
Which Article of the Constitution provides that the State Assembly shall consist of not more than
five hundred? : % :
(A) Article 169 (B) Article 170
' (D) Article 172

(C) Article 171
ated as a separate department in India?

When the Department of Disinvestment was cre

(A) 1992 (B) 1995
(C) 1997 (D) 1999
When the International Solar Alliance was established? o
(A) 2014 | (B) 2015
(C) 2016 (D) 2017

[CSP-1] _ _ ,[P.T.O.E '
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47, Whichrokilre .following Act prescribed federal features for the first time?

148.

149.

150.

151..

152.

153.

154.

(A) Govt. of India Act 1909 (B) Govt. of India Act 1919
C) Govt. of Indi
©) 0 ndia Act 19.35 (D) Indian Independence Act 1947

By this writ th

y . it the Court secures the body of a person who has been imprisoned to be brought
before itself:

(A) Mandamus ‘ (B) Habeas corpus

(C) Quo warranto (D) Certiorari

Which one of the following is not a Fundamental Duty?

(A) To protect the Sovereignty (B) To respect the National Flag

(C) To abide by the Government (D) To safeguard public property

Which one of the following is not a qu'aliﬂcation criterion for the election of the President?

(A) A person must be a citizen of India
(B) A person must have completed the age of forty-five years

(C) A person must be qualified for election as a member of the House of People , ™
Government of India or any State ‘

(D) A person must not hold any office of profit under the

Who determines the doubts and disputés relating to the election of a Vice-President?
(A) President (B) Central Election Commission
(C) Supreme Court (D) Parliament

An Ordinance issued by the Union Government can exist:

(A) At the most only for six weeks from the date of reassembly of the Parliament

(B) At the most only for six months from the date of reassembly of the Parliament

(C) At the most only for twelve months after it is being‘promulgated
(D) Until the Parliament passes an Act

Who among the following allots the portfolios to the Union Ministers?

(B) Prime Minister

(A) President
(D) President of the party in power

(C) Speaker of the Lok Sabha e
In the performance of his official duties, the Attorney General shall have a right of audience in

(A) Exclusively in Supreme Court

(B) High Courts and Supreme Court alone

(C) Central Tribunals, High Courts and Supreme Court alone

(D) In all Courts in the territory of India

[CSP-ﬂ [P.T.O.E
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155.. Who among the following scrutinizes the re ‘
port of Compt a and
then submits report to the House of People? 3 roller P Awliton Genaral olI5CH

(A) Ministry of Finance

(B) Committee on Public Accounts
(C) Governor of the Reserve Bank
(D) Committee on Estimates

156. As per the Constitution which one of the following is a wrong statement?
(A) The normal term of a Governor’s office shall be five years, but it may be terminated earlier

(B) The grounds upon which a Governor may be removed by the President are not laid down in
the Constitution

(C) There is no bar to a person being appointed Governor more than once
(D) The Governor’s diplomatic and military functions are restricted to the concerned State

157. The Directorate of Enforcement (ED) functions under
(A) The Department of Financial and White-Collar Crimes of the Central Bureau of Investigation
(B) The Department of Administrative Reforms and Personal Grievances of the Ministry of
Personnel
(C) The Department of Financial Security of the Ministry of Home Affairs

(D) The Department of Revenue, the Mlmstry of Finance

158. Which one of the following is not a function of the Securities and Exchange Board of India?
(A) Registering and regulating the working of venture capital funds
(B) Registering and regulating the working of collective investment schemes
(C) Registering and regulating the working of life and general insurance policies
(D) Reglstermg and regulating the working of mutual funds

159. New Delhi is the Principal Place of Sitting of the National Green Tribunal. The other places of
sitting include
(A) Bhopal, Pune, Kolkata and Chennai
(B) Ahmedabad, Indore, Shillong and _Hyderabad
(C) Bombay, Bhubaneshwar, Guwahaii and Bengaluru
(D) Panaji, Cuttack, Dispur and Thiruvananthapuram

' 160. In relation to the 73rd Constitutional Amendment, consider the following:
a. Provides four-tier Panchayati Raj System

b. Assured duration of five years

¢. Devolution of powers to Panchayats is vested with the Union Government
d. Gram Sabha is the foundation of the Panchayati Raj System

Select the correct answer usmg the codes given below: »‘
(A) a & c only (B) a, b & c only

(C) b & d only (D) b, ¢ & d only

PR, [CcSP-1] g m
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—

022,

023.

024,

025.

I [csP] [Contd,
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(A) sales (B) Bl

(C) uPaan vjoun (D) H1Rvis

3gaza s, Yulia curdla wla deisz, 2 56 s ysdl 6 ?
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sl et s 1o 1Rar APt 3 3uA sudly sulls A ura vl 8 A s d ?
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(C) 234t s1RAdL o @) 516l 351 sns1
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(D) aagl), aRol, ¢S

(A) B, da, At
(C) uaduA, 2aial, N4
Bryaill 202014 yduword Wlans A U4 541 9 ?

(A) S (B) 912 L
(©) Aven (WET

021. * Kalighat school of Painting belongs to which state of India?

(A) Karnataka (B) Mizoram
(C) West Bengal (D) Jharkhand

022. Legendary Indian classical dancer K an M A Was exp of which art?
(A) Kathak (B) Yakshagana

(D) Mohiniyattam

(C) Odissi dance

023. . Who is the only woman writer of Assamese language won the Bharatiya Jnanpith award?

| (A) Mamoni Raisom Goswami (B) Manikuntala Bhattacharya

(C) Arupa Kalita Patangia (D) Karabi Deka Hazarika

024. Which performing art forms are inscribed in the UNESCO's intangible heritage list?

(B) Mudiyettu, Chhau

(A) Bhavai, Tamasha, Jatra
(D) Lavani, Garba, Hudo

(C) Yakshagana, Swang, Nautanki
025. Which one of the following is the traditional attire of the womenfolk of Tripura?
(B) Chhar khela

(A) Rignai
(D) Bakhu

(C) Mekhala

[csP-1 [PT.0. u
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026.

027.
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029.

030.

031.
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4. AHEIRN — groflasit 2aRA
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Aail w3 Aud e Brearzitl Ad 200l 8, 2024 56 A0 il 4l ?

(A) qunvueo-l Al — e sis1 Breedl

(B) Maritel yei@asdl Aol — og=tate Bredl

(C) Aot caruiz-Al Ao, dlstedl Al — 2ierce Breal

(D) k-1l Aol = Y3 -g-1912 Freal

ozl ARl w4 A1 2icont el A 0 2l ©. A A4 56 Al 2l efl ?
AR cnzel ddaui-l il

(A) W3RIAG HBA — 3, ydl o2, 28, ), Widg (Reh, Boori Boot, Myoko, Dree, Pongtu)
(B) A — @B ddarR, Hl2Aley dd<uR (Hornbill festival, Moatsu Festival)
(©) wrilusie i) \iﬁg{ml, IR £912L (Maghi Purnima, Bastar Dussehra)

(D) B1vi8 — 533 Geuat, 1), AReA, 4y (Karam Utsav, Holi, Rohini, Tusu)

[0 [ [csP-1] [Contd.

026.

027.

028.

029.

03

031.

£

Name the mportant folk festival of Manipur.
(A) Chapehar Ky
(C) Kheraj

(B) Tendong Lho Rum Faat
(D) Yaosang

Pairs show _—
s showing the city, state and river are mentioned below. Which pair is not correct?
(B) Cuttack - Odisha - Mahanadi

(A) Ayodhya - Uttar Pradesh - Sarayu
| (D) Rourkela - Andhra Pradesh - Knsham

(©) Gwalior - Madhya Pradesh - Chambal

The famoug mosques and the place are mentioned below. Which pairs are correct?
1. Adhai Din ka Jhopra —Ajmer

2. Moonu Pettumma Palli mosque — Pappinisseri, Kannur

3. Bheer mosque — Ludhiana

4. Adina mosque —Malda, West Bengal

(AyL,2and 3 (B)2,3and 4

(C)1,3and 4 (D)1,2,3and4
List of Saints and Teachers of The Bhakti Movement is as under. Which pair is@\
Saints and teachers of the Contribution

Bhakti Movement

1. Ramanuja Exponents of the Sri Vaishnavism tradition within Hinduism

2. Basava Founder of the Lingayats.

3. Eknath He founded the Varkari sect

4. Ram Das Author of Dasabodh

(44 ©2 o1

Fairs and the concerned districts are mentioned below. Which pair is

(A) Shamlaji Fair : Sabarkatha district ]
(B) Bhavnath Mahadev Mela : Junagadh district

(C) Donkey Trading Fair - Vautha Fair : Ahmedabd district

(D) Tarnetar Fair : Surendranagar district

Indian Festivals and States are listed below. Which pair is@?

State . List of Indian Festivals

(A) Arunachal Pradesh — Reh, Boori Boot, Myoko, Dree, Pongtu
I]}) Assam — Hornbill festival, Moatsu Festival I

(C) Chhattisgarh — Maghi Purnima, Bastar Du ssehra

(D) Jharkhand — Karam Utsav, Holi, Rohini, Tusu

rr1o. B
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., el d. L@, %o ! AR A

GuR Aol a1l oy 3 Uz cyfFed A 2t 8, A A4 [Qsen WRE &
(A)l-ﬂ.2~l),3.c,4_d

(B)1-b,2-¢,3-d,4-4

(©1-¢,2-d,3-a,4-} 4
D) 1-d,2-2,3-b,4.¢

033. 2 2den Rl ¥4 s Rl e @ 7

1. 477U UG A5 (Gujarat Library Association) | 2wt 193941 48

2. A%uui & Aizglds sjsne) @,
3. 2tugiae Widg v Ranlls sizan R sy iman B § 2 i el a2 24d

duiau 8.
4, oflgf dlaau A s Htazy sisne adeu 8.

(A) W 12 2
(C)HAI ¥ 4

(it st

B)uA2 13
D) 1,2,394

034. 02 2uda Ru-l 54l

1, 2ttanell e : aienell e 21wl vsuan, onevis, iR 1A 2w Aiud RRA dlsl g1
@A 214 D, A AL dl 261 sl ursyert ALl (percussion instruments) UL ¥olld @12
155 atzofl 2ol 208 Y3ul 243 2024 giRL AR s 20d 8.

2. g (RoAM) : Qi et 2 Bloflaag gea © 2 Aot 2R AR Y3l da Al giR1 sa1HE Hdg
Wd Jed (playful dance) 8. 38 242 (striped skirts) 2d TAAN WasHi AurR qddl wReai
Al dieetg 2wt Al g 539, ygul, i A aiad Reeret w1 gl 58 acflar 2d orsdd

usQ 2 B. A g2t geusial aiaddl a2d sonai o B, 24 yal quors Ad R 2d 8.

(A) Hia 11y 6, (B) Wt 201y B,

(C) 1 dut 2 ¢i7 2 8. (D) 1 vaa1 2 A5 ug A -ell,

035 A s i 2 s els ot ell ?

(A) el (B) Yedl
(C) W= (D) At wat
036, 12 et Wl U4 s 2 yeriani sui Qa8 ?
(A) %1918 (B) I3
(C) vitu® (D) &8
[Contd.
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032.

033.

034.

Musical Instrumgng Person
1. Sunta ;
T POK: 2. Pt Shiv Kumar Sharma
. Flute
oy b. Hari Prasad Chaurasia, Pannalal Ghosh
oI ¢ P't. Ravi Shankar
4, Violin d. V.G. Jog

Sclect the music ing ent and the person playing the same.
(A)1-0,2-h,3.¢4.4

B)1-b,2-¢,3-4,4-4
©1-¢,2-d3-0,4-1
D1-d,2-2,3-b,4-¢ )

From the following statements, which statements are correct?

1. Gujarat Library Association was formed in 1939,

2. There are two Cultural Libraries in the state.

3. Gujarat Vidhyapith at Ahmedabad which is a State Library, a non-governmental library run
by autonomous bodies

4. Second one is Baroda Central Library, Baroda.

(A)only 1 and 2

(B) only 2 and 3

(C) only 3 and 4

(D) 1,2,3and 4

Evaluate the statements.
1. Santhali dance ; Santhali dance is performed by Santhali tribals from West Bengal, Jharkhand,

Orissa and Assam. Performed by both men and women to the music of percussion instruments
like Tamda and Tumda drums along with enchanting flute music.

2. Bamboo dance (Mizoram) : Bamboo dance from Mizoram is a playful dance by the Cherav
tribals, performed by both women and men. Colourfully attired the women, with.striped skirts,
dance to the rhythmic beats of drums. Men normally hold the bamboos on the floor, expanding
and contracting the bamboos. Meanwhile the dancers step in between the bamboes and move

out fast in perfect rhythm.

(A) only 1 is correct (B) only 2 is correct

(D) both 1 and 2 are not correct

I (C) both 1 and 2 are correct ]

035. Which one of the following isa folk instrument of Kutch?
(B) Sundari

(C) Bhorrindo (D) Jodiya Pava

036, Where is the one amongst the four Sharada peethams located in Gujarat?

(B) Pawagadh
(D) Dwarka

(A) Junagadh
(C) Ambaji

[PTO. m
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037, 4w AU A 1) 2an 3} ynsCO ) acd AR2y wedui w2 S !

(A) guag (B) sioflaz AORIRN
() dandla (D) 36wl
038, il Ecue a2 yoraadln o e andes Al e A WA 68 87
(A) War and Peace (B) Anna Karcnind
(C) Resurrection (D) The Devil
039. DA U4 e vl s il sy s sives Brcaet et 52404 el ?
(A) H3u () ollud Al
(C) uadd YRR (D) URe 51718 65
040, %u2is2 Yedl A il iiesen su1 sz vl © 7
(A) Aoudy Yedl ) ) sssrll
(C) 8L iy, elst get (D) UM

041, G &4 At 20lAn A (MR Rl sui dlan s ?

(A) gl (B) elao ©uxlR (D) Wi

042 02 gl vt dsil 2fetom Al AN ) D,
I B v —yud
1L SR 4ed — ellaidie
1L %UE 3t — sauf2s

GRuA sS AN Wl B ?
(A)yHA T ByAT¥A I
(C) ML 1T 4 111 (D) Gulsd dHIH

043, od12ety] Nl U4 53 4iR2 A Bt wizew il onallg 8 ?

(A) Alaua 4lza (B) epsdluz HEER

(C) M3t -y Hl2R (D) Bl 32
04d. 3prd Reanfls vam gafufd ot sa ?

(A) HER udd (B) R-llon oud

(C) HegaousS 28 (D) ustet i)

045, pzatadl e afl sietadeu uam g ~uudla sle et ?
(A) wrtfly ol .2, Adaar
(B) -l ~uanflasd ofl.2. Raut
(€) M-l =l o1l otadl
(D) ut-la nlasdl A28 e

037, From the following whicy place of Gujarat has been named on UNESCO’s World Heritage list?

Jung
(A) Junagadn (B) Blackbuck sanctuary
(C) Dholavira (D) Rudra Mahalaya
038. Identify the saga of Tolstoy translated into Gujarati by Jayanti Dalal.
(A) War and Peace (B) Anna Karenina
(C) Resurrection (D) The Devil
039. ‘Sangeet Martand’ was the honorary title conferred to which Gujarati vocalist?
(A) Mukesh (B) Bhimsen Joshi
(C) Yashvant Purohit [ (D) Pandit Omkarnath Thakur

040. Jaishankar Sundari wrote his autobiography with the title
(A) Saubhagya Sundari (B) Mari Karamkahani
[(C) Thoda ansu, thoda phool (D) Natyabhkatha

041. Where did Lord Buddha breath his last (Malaparinirvar)?

(A) Kushinagar (B) Bodh Gaya

(C) Rajgir (D) Sarnath

042. Consider the following dances with states to which they are associated:
L Siddi Dhamal - Gujarat
II. Kaksar Nritya — Chhattisgarh
I11. Janapada Nritya — Karnataka

Which of the above is/are correct?

(A) (I) Only (B) (I) and (1) Only
(O 1) and 1) 0ty

043. Which one of the following temples of India is known as Deo Patan?

(A) Somnath Temple (B) Brihadeeswara Temple

(C) Lord Jagannath Temple (D) Meenakshi Temple

044. Who was the first Chancellor of Gujarat Vidhyapith?
(A) Sardar Patel (B) Vinoba Bhave

(C) Mahadevbhai Desai (D) Mahatma Gandhi

045. Who was the first Chief Justice of Hon’ble Gujarat High Court?
(A) Hon’ble Mr. Justice M G Setalvad
(B) Hon’ble Mr. Justice B J Divan
(C) Hon'ble Mr. Justice Jagdish Bhagwati
LTD) Hon’ble Mr. Justice S T Desal ]

W [csP]
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046.
047.
048.
049.
050.
051.
052.
053.
054,

055,
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e ——

AR Ae912 3 Ay 14 5 e w2 ol 8 7
(A) 28054 2oy (B) gy
(© 4l 3zl ) sefyord Bedl

« AT sl B,
(B) »1Rz=u

M) By

“Ponung’® ¥ Popir’ 2
(A) vi3ouay ¥y
(C) weuds

s el A SR yaum wigsa i’ 8q?
(A) 1 Bayd

(C) £l HiaL

A 20l A2 VA 56 AQ oy AA Asidell e ?
(A) WDd Qi 14N — 322 (B) aqvu 18— ailiset

(©) Reeua A — enandR (D) aeell Rewa R — adleat

sl 23u g1zt ReRid 54 2Rt 2 svaa i) Haasu Gu uRd 64 7
(B) Al 1A

(B) #llug A
() 4l YRd HSRLY

(A) yedl acan
(0) wadlis (D) 3126 iz ada el
ot A2 B4 56 2uRonfd auaie 539 ?
(A) §5a/gL (®) ol
(©) s0ll (D) w2
51 a2 £R3A1 0L ER012" 2udlegt s2atui A O ?
A€l (B) 7-HreHl
(©) Bardl (D) R8ucian
3l wern dsd 2@eodn’ Yao! Ags wid 512 e ed ?
(A) Yrllag R (B) Jaltiel 52
(D) %3e 2iadl 2d23g sifaer sl

(©) 3. 44 32l

‘520 e’ taasait 2uldL segdt ?

(A) 252 udel (B) uRudw
(C) EeMdRAH. (D) 444
atrifls 2l it s2-u21 Yl Avish v 22l 6 7
(A) AR ®)4
©a )16
[Contd.

046. Lnur‘in Nandangarh is famous for which architecture?
(A) The Pillar of Ashoky (B) Stupa
(D) Fort of Maurya age

(C) Baudh caves

047. ‘Ponung”and ‘Popir’ are the folk dances of ...

(A) Arunachal Pradesh

(C) Nagaland

(B) Odisha
(D) Tripura

048. Which Gujarati saint poet’s original name was ‘Pandurang Valame'?

[ (A) Rang Avadoot imad Raj
‘A) Rang Avadhog (B) Shrimad Rajchandra

(C) Shree Mota (D) Shree Punit Maharaj

049. Find out the mismatch pair from the pairs given below:
[(A) Ranjitvilas Palace - Jamnagar ]
(B) Naulakha Palace - Gondal
" (C) Nilambag Palace - Bhavnagar
(D) Laxmivilas Palace - Vadodara

050. Which movie directed by Govind Saraiya was based on a well-known Gujarati novel?
(B) Gujaratno Nath

(A) Pruthivi Vallabha
(D) Sorath Tara Vaheta Pani

(C) Saraswatichandra

‘Which of the following tribe lives in Gujarat?

‘A) Kunkana/kunna

(C) Karabi

051.
(B) Gondiya

(D) Paraja

052. During which festival the ‘Dangs Darbar’ is organized?

(A) Holi (B) Janmashtami

(C) Diwali (D) Raksha Bandan

053. Who was the first recipient of ‘Ranjitram Suvarna Chandrak’?

(A) Chunilal Madia
(B) Gulabdas Broker
(C) K.M. Munshi

(D) Jhaverchand or Zaverchand Kalidas Meghani

054. Find out the writer of the novel ‘Karan Ghelo’.

‘A) Nandshankar Mehta

(B) Mahipatram
(D) Navalram

(C) Dalpatram
055, How many Gujarati writers have been awarded by Jnanpith award?
(B) Two
(C) Nine (D) Eight
[csP-1] rro. KA
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056.

057.

058.

059.

060.

061.

" 062,

063.

T Aa ® ?
S UG e 43612 At s el AL s WA oppaidl i 42

S s
(A) st gy iy B 1
(©) e 2§ (D e M3

-
is él'it netalm " IR0 oI Re e gt quas 2 sy Yas A HAY agf8?
() %14 2l 2 Qofle g Sas 64 1583 @) s 20 yuedl

(© §-snary (D) Brei v

Y%At -iljl-u U4l s Genrtal gan 247 1) gelot umRodl Guann 9
@slag (@) q§ aw2uls Get
(©) WRua wéq ®) St

B AR AP HRA 521 93] 2 2isenden § ?

A) 53'* (B) g
(C) Awq (D) AR
sl et ssydell ded A s el sou B ?
A) Risln (B) e
(C) afanug (D) uismea

Al Rtrtiea orwRsmi AQunisl 58 caliu wARRad s sdad 8 ?

1. 3yel 2iaar 210 Ad s Rz auda sda wdRzadld wARfa s alsueit i
A% Qe el

2. st [RdRu 28t Riadl 214 2adl
3. RSt adlazii BAN 2 2ad e vad A

ARl el 518w 53,

A)1,3 (B)2,3

(©yuA1 D123

guf oAl uRNE- HRUA ... o5 54 A3,

(A) lard Q4 (B) asuiturt- oreneiu 2l
(C) &5 52158 AeAclui () 2l weudidl

21 (NOTA) Heirt [seu cuay ud 8. ]

1. 214 [RE-zen zell

2. dlsucu Yeell

3. 20guld 241 Gurgula- Yeell

el Rsey uaie 5. o .
A2 ®)1,3

©1,2,3 D)1

W [csp1] [Contd.

056. Whois the only Gujarati person to be conferred with India and Pakistan’s highest civilian award?
(A) Balvant Mchig (B) Pherozeshah Mchta

(C) Morarji Desaj (D) Jivraj Mchta

057. _Which book writie, H
(A) Journal of a Visit to England in 1883
(C) England ma pravas

atsinhji-Maharaja of Gondal is a travelogue?
(B) Ek toonki musafari
(D) Briton ma pravas

058. Which garden of Gujarat has the trees and plants of rare species?
(A) Green park [ (B) Waghai Botanical Garden

(C) Parimal Garden (D) Hanging Garden

059. Hastagiri temple in Gujarat State belongs to which religion?

(B) Buddhism

(C) Vaishnavism (D) Swaminarayana

060. Bommalattam, the Puppet Dance, is the art of which state?

(B) Meghalaya

(A) Sikkim
(C) Tamil Nadu (D) Andhra Prades
061. A State Legislature may provide for the representation of which of the following persons ina
municipality?
1. Members of the Lok Sabha and the state legislative assembly repr i i ies that

comprise wholly or partly the municipal area.
2. Teachers and graduates living within the municipal area.
3. Persons having special knowledge or experience in municipal administration.
Select the correct answer code:
Aa1,3 (B)2,3
(C) 1 only 1,23

062. The President can dismiss a member of the Council of Ministers
(A) On his own
(B) On the recommendation of the Prime Minister
(C) Only under emergency conditions
(D) With the consent of the Speaker

063. The NOTA voting option is applicable in
1. State Legislative Assembly Elections

2. Lok Sabha elections
3. Election of the President and Vice-President

Select the correct answer code:

W12 ® 1,3
©1,2,3 (D) 1 only
[cSP-1] 1 - rro. [
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079.
080.

081.

082.

083.

084.

085.

o

€9 {5+ 2, 5 o i
AR ?:a;]qi‘rl‘;{ W4, 6, 10 943 15 43 ouorni s dl 635 A 28 all 8. dl A earrt A4l

ol ®s ©4 e

s dladl Rz Sruonedl BBz lu a4 atouaet 0.2 6, 3 4 Rz villganni 21 dl, il A s
Rz w2 $-um % A1 2iouary Jeel?

(A):0:3964 (B) 0.5904 (€ 0.6824 LS

6 Rl BANR euzas i wouad ALy sl ?
(A) vuauR

[OEMEEEIRTET

©) AL gadiderel] (Instrument of Accession)

(D) it ¢2afu- AR

g s+l 4nan sut arfui 93 s2enni 2l ?

(A) 1919 (B) 1920
(C) 1930 (D) 1947

“AlM19 SR 1A SIS et 39800l (seeret society)d A wuwerens 812 SRl Y,

(A) YR ol (B) L4, AR
(C) ugea 18l (D) oo Ris

adlEt AU HUBA AsALS (1863 - 1939) 31 A1 YL aseat i Al avida 8.
1. tut @9 nlAeiy WARRH

2. @[ @A 48R AARAM

3. Rg [Qua yrelot wuBRun
4, A UARA W2 HEd A $20ud wudly Rz
Guu A4 54 Reysu Rl aew 8 2

[OETER] (B)1,2,4
©1,2,3 (D) Gulsd dwry

Q{;ER acanieus w2d Ao wofeadd dsu 52321 Gavaal R3¢ wud vgdld Adea su @6
sfed?

(A) duRaL (B) AHEIAIE

(©)¥laL (D) il

. 56 UMD el 2idold 16l 19342 1966+t o s upuf 231 uS ¢l ?

B) 524 el AR

(A) ARER W2d AR
(D) 1 81gR Al wRR

() u=eR g5 Rig aMR

e [Contd

079, ‘The least number of six diglts, which when divided by 4, 6, 10 and 5, leave same

.. Haryana was formed on first N

remainder 2 in

ench cnse. Then what is the sum of the digits of that number?

(A)3 B)5

©4 )6

The probability of a lottery ticket being a prized ticket is 0.2. When 4 tickets are purchased, what

is the probability of winning a prize on at least one ticket?
) 0.5904

(A) 0.3964
(D) 0.7804

(C) 0.6824
limi I the French infl in India?

B) Subsidiary Alliance

(D) Policy of Non-interference

By which policy the British
(A) Doctrine of Lapse
(C) Instrument of Accession

In which year was non-cooperation movement was launched?

(A) 1919
(D) 1947

(C) 1930

«Abhinava Bharat” a secret socicty of revolutionaries was organized by

B) V. D. Savarkar

(A) Khudiram Bose
(D) Bhagat Singh

(C) Prafulla Chaki
Sayajirao Gaekwad (1863-1939) of Baroda state enacted a set of social reforms which includes

1. Infant Marriage Prevention Act

2. Local Self Government Act

3. Hindu Widows Remarriage Act

4. Free and compulsory schooling to all citizens

Which of the statements given above is/ are correct?
(B)1,2,4

(D) All of the Above

©1,23

At which place Sardar Vallabhai Patel, under Gandhi's guidance led the farmers against the
collection of taxes?

(A) Champaran (B) Ahmedabad

(C) Kheda (D) Borsad

ovember, 1966 on the recommendation of which committee?

(A) Sardar Patel Committee

(B) Fazl Ali Committee

[(C) Sardar Hukam Singh Committee ]
(D) Lal Bhadur Shastri Committee

rro. Ed
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087.

088.

089.

090.

091.

092,

093.
094.
095.

096.

e —

S UL SUE €23 2o Rugjs af ¢l ?
(A) vAsdl yam
(©) 1857 s

(B) welluiie sut Sedtsis
(D) siouu-t MLAdl

Tm@[{ Brat o2 At oty vt Sl s ?
A (B) Qs adls () ARz 2190

Bidlar oz, na w1l wlaani Rouy-ig Adlaet s2-i auadag 14 adl.

EL]

(2) cﬁ; Ada (B) &l wiG-edzt
(C) 5432 A2l (D)l Rl
AR ..., 3l 2 A 311 a3 .

(4) gl ®) Raaw (© fous @ Al
.......... A ellanyReUl Yatdin wdue uRazns-l suz 8,

(A) Q1522 (Sikandera)

(B) {5 63 (Chausath Rauza)

(C) Sellue-Be-8leut (Itimad-ud-Daulah)

(D) 201 9t4% (Gol Gumbaz)

w1 200d RigHl aztdl ... sl

(A) dalia (B) duaz (©) ¥R (D) @l
[t adl cudla arg il sudllt @RAE HAURY «......... Ges &g

(A) s1uudl (Black pepper) (B) g (Ginger)

©) Aol (Rosemary) D) wsH (Thyme)

58 AN £141 Aellt 1A A1 A5(Rs 234 51 a3 st 4y ?

(&) Re 614 anan (B) 25l 314

(©) surslell Aeurng (D) dwRsl AUAS

AEIR YAt ML SR ... Rt ol oudHi Rl s viieut.

(A) 21313 1 Beausite (B) %1316 w1 ulaal

(C) %118 214 adleRn (D) %ute A g3 B
1916 @ul 5202 2 AYSd wunnnnnnne A aloytiell grvna 540,

(A) dlar - g wsramt

(B) dlo1 - 2uaidlail

(C) uauglal - S

(D) eielly 20l Sl 21 2ilet SR el eflay

h

E [csP-1]

[Contd.

087. The Hunter Commission was appointed after the
(A) Black hole incident [ (B) Jallianwala Bagh massacre ]

(C) Uprising of 1857 (D) Partition of Bengal

088.  Who wrote Gandhi's favourite bhajan Vaishnava Janato?

(3 Riyas Lati

(C) Rabindranath Tagore (D) Kabir

089. Name of the Viceroy who supervised the partition of British India into India and Pakistan.
B) Lord Mountbatten

(A) Lord Wavell
(D) Lord Linlithgow

(C) Clement Attlee
090. The Sun temple in Orissa is in the shape of a chariot.
(A) Brihadeeswara (B) Dilwara
(D) Meenakshi

'

091. is the mausoleum of Mohammad Adil Shah, Sultan of Bijapur.
(B) Chausath Rauza

(A) Sikandera
(D) Gol Gumbaz

(C) Itimad-ud-Daulah
(B) Peshawar

from Malabar in ancient India.

092. The capital of Maharaja Ranjit Singh was
(A) Taxila

(C) Jalandhar

093. Outstanding among Indian items of export was the
A) Black pepper (B) Ginger
(C) Rosemary (D) Thyme

094. Satara Prati Sarkar emerged as a form of alternative national government during the

‘A) Quit India Movement

(B) Non-cooperation Movement
(C) Bardoli Satyagraha

(D) Champaran Satyagraha
were merged into India.

095. It was due to the efforts of Sardar Patel, states like
(A) Junagadh and Hyderabad
(B) Junagadh and Patiala
(C) Junagadh and Baroda
(D) Junagadh and Cooch Bihar

scheme,

096. The Lucknow Pact of 1916 offered a joint
(A) League-Hindu Mahasabha
(B) League-Unionist

nionist-Congress
(D) The Indian National Congress and the All India Muslim League

[csP-]
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097.

098,

099,

100.

101.

. e o)
Al o1l HRABEAU 3yl uRRAn *Revolutionary and Anarchical Crimes Act'? WAl

A ... a3 ey gl

(A) MRd de2 URRUN (Defence of India Act)
(B) Artie? e ARUY (Oficial Seerets Act)
(©) R2n SRt 2RNaw (pites ndia Act)

(D) A4z xnBRux (Rowlatt Act)

dza Qo Al Sl gen ?

1. 9l Qe WA acqoieuss udy 2. 00 Az 1 st Res
3. A0 A2 21 MR AR 4. 2l Az A 1ot e
e U4 s Rl e 8 7

(A) 12112 B) 234

(O M2 D)HA3

A VA A ugraru silisndla Sovsa?

1. 2[R 214 Asduiz sue 2. optdfg 2 AL, e
3. o1dRie 21 Al arud 4. 1Rl A vl ol
e Rl B4 54 R ad ?

A)1ud 2 B)1213

© 1344 D)2213

aiRdlL Al SR L) Adiil S et ?

LA, A aui 99, 3, olmd - 2. 2. At A dal QLA a%UdAL

3. 9, A, A da dlsa Ras 4, A, A, A9 qa Brflwe

2ila Ru Q4 sul @ a8 ?

(A)u 1 (B)uiA 2

(© 1au2 D) 2413

GAMAWRS. MA Y Neuel 8. Y A dudl 0 2 X Al ya 8. dl 0 ¥ G il sun 2vinell
. Al 8?

) R (B) YA

(C) Wielt (D) “lRdl 21y2dl §

W [csp-1] [Contd.

097, The ‘Revolutionary and Anarchical Crimes Act’ was popularly known asthe ______-

(A) Defence of India Act (B) Official Secrets Act
(C) Pitts Indin Act D) Rowlatt Act

098. Leaders of the Home Rule Leagues were:

1. Annie Besant and Vallabhai Patel

2. Annie Besant and Lokmanya Tilak

3. Annic Besant and Sister Nivedita

4. Annic Besant and Dadabhai Naoroji

Which of the above statement/s is/are correct?

(A)1and2

(By2 and 4
(D) Only 3

099. Two important revolutionaries from the below were

1. Bhagat Singh and Chandra Sekhar Azad

2. Bhagat Singh and C. R. Das

3. Bhagat Singh and Lala Lajpat Rai

4. Bhagat Singh and Khudiram Bose

‘Which of these statements are correct?

(A)land2

(B)1and3
(D) 2and 3

100. Moderate leaders of the Indian National Congress were

1. S. N. Banerjee and G. K. Gokhale

2. S. N. Banerjee and Lala Lajpat Rai

3. S. N. Banerjee and Lokmanya Tilak

4. S. N. Banerjee and Bipin Pal

Which of the above statement/s is/are correct?

(C)1and2

(B) Only 2
(D)2and3

101. G is the husband of M. M is the sister-in-law of Y. Y is the son of couple O and X. How is O

related to G?
(A) Father
(C) Mother

(B) Son
(D) Data inadequate
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118.

119.

120.

121.

122.

5

7380 s %42 30 ) Gt stz 303 76 8l a5 Aol 5 o) uRewarl coraleet A
HsUl 2 6. ol 3 Al v Bl 2l 3y yf) ausidl?

@12 (8)20

«n () uRlsa 4] 25 w1l

A adag s 2 § am And Poudl iged 2 4 ad 5 A 9. L e wd utw agh i
Rretag Axg0n 224 47 |
(A) 66 A2
(€) 214130

3 allssa v 6o 243 Azl o o] o sy 6 2eu B, isdt ufadl s wr st 8
eugln g6 €190 26 B, A o+l 4R Aeidl WLl v 70 i o, i v el 6 dl?

(A) 14 (B) 12

©18 (D) Gy A s v dl

(B) 9 AL.AA
(D) Guglsa 041 25 w2l

M yallua 6ol 8. & Ward wued aze 59 20 M2z 1d 9, uedl el s1el 26 53yt 20 {122 €
8 24 el ol s 59 yi: 20 22 A B, ewgeite 9o Wil oell e #8040 MR A4 6
212 202 500 Wl oxuell des 53 40 ez wd 8. dl A yn rewell 36 Rowni B2

(A) 62 ®ud

(©) uBan (D) ek

o (civilization) 1l e G 351 3 BHA Wramag suzet usg, d AU s D ?

1. i

2. eurdly Guvis

3. 511G MHULISIR (Crescent) (S 214 A1)
4. o (M A 2lw)

dloy Rseu waie 58 wail Gri 2l

(A)HA 1,223 (B) HtAA 2
©wA2uA3 (D) GuRsd dxId
A4 auden [ auqui dl.

1. 45 2o} 2 2t s2e 112 {1 €8] vud il s2aimi 2ude e nour 9 caif 2l e
AdR W ¢,

2.2ty olluarlly dell usddl §aq widg ed.

e Rl U s uea 9 2

@1

(©)1du1264-

(B) 112
(D) 1 28 2 A5y )

sk [Contd.

| B

ol 0 1 . iy

g17. Cylindrical cans ofragiyg o7 cm and height of 30 em are placed in 2 rectangular box of dimensio

roen b ems em, What s the maximum number of cans that can fit in the box?

o (B) 20

= (D) None of the above
118. Two circles of same center have radius of 2 ¢m and 5 cm respectively. Then what is the area of
region between larger ang smaller circles?
(A) 66 sq em
(C)21sqem

(B) 97t sq cm
(D) None of the above

119. A certain number of horscs and an equal number of men are going semewhere. Half of the owners
are on their horses’ back while the remaining ones are walking along leading (heir horses. If the
number of legs walking on the ground is 70, how many horses are there ?

(A) 14 i
e (D) None of the above

to his left again he walks 20 m

120. M is facing East. Turning to his right he walks 20 m, then turning
s 40 m and finally

and then turning to his right again 20 m, then again turning to his right he walk
again he walks 40 m turning to his right. In which direction is he from original position?
(B) East

(D) South

(A) North

(C) West
121. Which are the main cradles of civilizations which have shaped the destinies of mankind?

1. China

2. Indian Sub-continent

3. The Fertile Crescent (Egypt and Mesopotamia)

4, The Mediterranean (Greece and Rome)

Select the correct answer using the code below:
(B) 2 only

(D) All of the above

tant public place of Mohenjodaro made for ritual bathing.

(A) 1,2 and 3 only
(C) 2 and 3 only

122. Consider the following statements:
1. The Great Bath was the most impor
2, The floor of the bath was made of burnt bricks.

Which of the statement(s) given below is/are correct?
(B) Only 2

(A) Only 1
(D) Neither I nor 2

(C) Both 1 and 2

tPT.0.
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123, Aditt2 Bt U2, 4R G131 AT 1A 3 UL oo T HHIRE il
(A) %% (Angas) (B) ud (Parvas)
(C) Res (Pitakas) (D) Y3t (Sutras)

123, According o Svetampyyry Jofns, the original doctrine taught by Mahavira was contained in
(A) Angas
(C) Pitakas

(D) Sutras

{24, Consider the folloy Ing statements:
1. Sushruta known for his work on medicine during Gupta period
2. Sushruta Samhia j n Sanskrit text on surgery

3, Sushruta is the first \ndian surgeon
4, Sushruta known for concept of Shalya tantra (surgical science) including Rhinoplasty

124, Al [l Lot e,
1. 241 g2t Rt Ruatr Wl 1 w2 yyaga opellen 8.
2. Yyt I3 21 g ol v Al yeas 6.
3. 3434 3 A MiRdld acaRBes (surgeon) O,
4. 34 A Auglis aRABu (Rhinoplasty) AR a-u aeura (et Bau-) v 2 ol .

Guarit [ U4 59 Rary/san Rl aee 8 2

Which of the statements given above is/are correct?
(A) 1and 2 (B)y1and 4

(©1,2and 4

(A 122 B) 1914
© 1,204 Gudsd dmn
®) 125. The Pallava capital was located at which place?
125, yedll st N1 A4 s ead Rid ol 7 (A) Gangaikonda Cholapuram (B) Kanchipuram
(A) dPudl-s Alayam (B) sidllyn (C) Chennapatnam (D) Tiruchirapalli
©) PETVERT D) fzflatucdl 126. Who built the Seven Rathas Temple located in Mahabalipuram?
(A) Cholas (B) Western Chalukyas

C) Pallavas (D) Kakatiyas

126, sty R aid 2’ 3y Rnlw 19 s ¢ 7
127. The beginning of the British political sway over India can be traced to the battle of

(A) W WA (B) Wy G wasi

C) ueda sl i L]

© (D) 5158 (A) Panipat (B) Plassey
127, etz Gur Bidla oy fla sulucd agaid sut gy 29l asll s & ? (C) Baxar (D) Wandiyrash

(A) WiBud B) sl 128. Raja Ram Mohan Roy was

(C) e5uR () afldia 1. A well-read man and founder of the Brahmo Samaj.

) 2. Brahmo Samaj was established in April 1828.
128, wA AR HeRA A ... dadiidediis] ¢
S N (A) only 1 is correct
1. 3R doun sl A1 2AUUS Sl (B) only 2 is correct
2. eyl 2uu-u AR 182841 2 edl. (C) both 1 and 2 are correct
(B) 34 2 Ay 8. (D) both 1 and 2 are not correct

AHAT YA D,

(€)1 da 2 64 yeu 8, .
129. The immediate cause of the Swadeshi Movement was

(D) 1 »iad1 2 2% ueL ¥ efl.
(A) Rise in prices of essential commodities

B) Partition of Bengal by Lord Curzon

129. gl wang diestfas st2at o......... &d.
(8) 2925 dyerago-u euani aid (B) Al 595 g1t ¢ioua-i euroraa
© Aol @il D) ‘;l.;eﬂ'ﬂ WAy (C) Rising unemployment
(D) Discontent of the peasants
130, s rangend A3t y=Mzaui 9 N
: e peaa ey | 130. Who was the Deputy Prime Mi ister in the cabinet of Prime Minister Jawaharlal Nehru?
[ (B) Sardar Vallabhai Patel ]

(A) C. Rajagopalachari

(C) V. K. Krishna Menon (D) Rajendra Prasad

(B) eI qcioreus ude
(D) UBs Mg

WAL apeluad
© 3. s

rro. B3
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131.

132.

133.

134.

135.

136.

13

2

2adt GuRcHi A HR AL Yrasisl 1ot gdi ?
(A) YAeit Buausl

(©) SR il

19561 uerr -l anan’ Rd Dd-u Rl i Al

1. A @it AR 2462t Azt et Gur 35l dllsBa avan sdl
2. a0 20t RenelloAl 214 203060 1ARA crt i wuell Selle
3. vl 195641 d Rafus Yo uz udifl edl.

4. destell 3l alaize a9 A3 wsiicts nRcus el ddl.

Gua-t [Quiy/Ru W4 syjsu aea & 7
B) 121414

(®) s 2 1l
(D) Reeiazall e

D) 1,293

(© 1,294
Lt 2R3y a3

(A)1213
Ry uoadr 2s Yol wef=dl daden Rl saxi d3ay, R Eadl ..

il 8.

(A) *ela [Quy (B) @t R

(C) o1t BBl (D) Gudsa U4 25 uat 16l
[y acadi Y4231 0 Gavin 59 54 q ?

(A) ¥R gL AH gl (B) 4l ooud uld A

(C) 2 A, YR, A () %A flar

A1 040 s 299 My o4 Ax- Al e Guder 2wl ol ?

(A) ARy (B) gAll9R (©) gwiidl (D) ¢l o
B 43 o191 Rigidl, 3 2 B’ ddls 2leuu 8 d ... 8.

1 @ el 2. 4345 S

3. uwis ARA 4. s el

oy Rsen yale 59 22l Gri2 A,

Ay 1 (B) Hst 1244 2

©H1,3,4 (D)H1A1,2,3

e ey 3 slRuet euRn alon aasin gl e 52121 A daluid 28 o,
1. R ¥ 241 cjoiedl 22y wdl,

2,204 g du-n ] dls a3 Rl BualoL s2at g,

3. dud itk wid el R Rale 59 od.

4. 20e w3 ajon ket id ¥Aat 52021 Al M WAL gL,

6uRr 04) 54 Run-y/sun Rl aea 8 7
(A) U 1

©) 1,344

(B)1,2213
(D) 1,2,3% 4

beshl [Contd.

——

) 131
,r

Vho was the firg
. Who he firgt Woman Chief Minister in Independent India?
(B) Aruna Asif Al

(C) Indira Gandhj (D) Vijayalakshmi Pandit

132, With regard to ‘Mahy Gujarat Movement of 1956°, consider the following statements
1. It was popular movement centered on linguistic assertion for separate state
2. The lead was taken by students and prominent citizens
3. The turning point came in August 1956
4. Then Chief Minister Morarji Desai responded positively

Which of the statements given above is/are correct?
(B)1and4

(D) 1,2 and 3

(A)1and3
(€)1,2and 4

133, A male-god on one Seal of Indus, seated in the yopi posture, surrounded by animals is identified as

a prototype of
(A) God Vishnu
(C) God Brahma

(B) God Siva

(D) None of the above

B) Sri Jagat Pati Joshi

(D) Mortimer Whecler

134. Who excavated Surkotada site of Indus?
(A) Sir Daya Ram Sahani
(C) SriS R Rao

135. Gautam Buddha delivered his first sermon at which one of the following places?

(A) Sarnath (B) Kushinagar

(C) Lumbini (D) Bodh Gaya
136. Three principles of Jainism, also known as Triratnas, are
2. Right Knowledge

1. Right faith
4. Right speech

3. Right conduct
Select the correct answer using the code below:
(A) 1 only (B) 1 & 2 only

(C)1,3,4 only (D)1, 2,3 only

137. The Chola empire was one of the longest ruling dynasties of South India
1. Vijayalaya was the founder of the dynasty
2. Chola rulers used ‘Lion’ as their royal emblem
3. They constructed Brihadeeswara temple at Thanjavur
4. Cholas were first to venture into banks of the Ganges

‘Which of the statements given above isfare correct?
(A) 1 only B) 1,2 and 3
D) 1,2,3 and 4

(©)1,3and 4
[csP-1]
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wdue DA 6.4, 117841 SR YosRiatt s - 2l

138.
(A) ofluda uddl ®) efluda ol
(C) yawed (D) Guglsd 141 A5 vau -l
139, ooz 611 3 s2aui 2uda YA gedar?
Ayl RrR- (B) R 2y AR
(Cy i A3ug RRR-EL (D) Sy Rl
140, 18571 Gu2d-1L ttcd>4 iU (Indian Revolt) 22 20l A4 ¥ FsER Aaudl gt AR S e
sAedl?
(A) dl§ 3Gl B & 3
(C) dl§ Adrdl ) d{ R
141, oude ARUEHL 50 e Aued AREAAL e ' 2R sa1i @ AR SiSun
ool g sl aad 8 ?
(A) 2329 366 (B) 2ig83e 367
(C) »UgR5€ 368 (D) 429¢ 369
142, G121 AHAR A 1orrnnnn, MR AR B,
(A) 2ARs Hiset ®) MBaralsa
(©) ¥l Hisa (D) -ild Hlsal

143,

144,

[CsP-1]

due g var sadlar g il dRue 2ugds 11 sn nad-w guld daar Rsedl
s da 8 ?

(A)wL 1 (B)w= 2

©ua3 (D) 3t 4

AR su 2gdenl Ad Aaud saami 2udl @ 3 uwud Rarneusi 500 4) qﬁ Aol dlu ?
(A) 2142t 169 (B) »13¥e 170
(C) g2 171 (D) ug e 172

5. oiRdul BRda Reword 2140 Rowdt di3 suid s-tiami 20l gdl ?

(4) 1992 (B) 1995
(€ 1997 (D) 1999

. iRy AR Asa 2am-u sl 1 ol ?

(f(\:) 2014 y (B) 2015
(C) 2016 (D) 2017

[Contd.

1e of the ruler of (2
138. Nam e ruler Of Gujarat who defeated Muhammad Ghori in 1178,

(A) Bhimdev I
(B) Bhimdev 11

C) Mulrajdev
0 e (D) None of the above

139, Who was the Sufi imprisoned by Jahangir?
(A) Yahiya Sirhindi

[(C) Shaik Ahmed Sirhingj I

(B) Mia Rasul Sirhindi

(D) Islam Sirhindi

140. Who was remembered for the Doctrine of Lapse policy which many hold directly responsible for
the Indian Revolt of 18572

(A) Lord Dalhousic

(C) Lord Wellesley

(B) Lord Canning
(D) Lord Lytton

141, Which Article of the Constitution of India empowers the Parliament to amend any part of the
Constitution without affecting the ‘basic structure’ of the Constitution?
(A) Article 366
(C) Article 368

(B) Article 367
(D) Article 369

142, The Indian federal system is based on the
(A) American Model (B) Canadian Model

(C) Australia Model (D) Norway Medel

143. How many alternatives are provided to the President of India under Article 111 of the Constitution
regarding a Bill passed by the Parliament?
(A) Only |
(C)Only 3

(B) Only 2
(D) Only 4

144. Which Article of the Constitution provides that the State Assembly shall consist of not more than
five hundred?
(A) Article 169
(C) Article 171

(B) Article 170
(D) Article 172

145. When the Department of Disinvestment was created as a separate department in India?

(A) 1992 (B) 1995
(C) 1997 (D) 1999
146. When the International Solar Alliance was established?
(A) 2014 (B) 2015
(C) 2016 (D) 2017

[Pl rro. B
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161. H8IcHL il 2R 32\1!;1 s e? 161. Books w':"v‘e‘" .hy Mahatma Gandhi were:
1. Rg 22ty 21 ouzd 2As vl 2. R 2quey o HIRL A0 1. Hind Swaraj and Discovery of India
3. [ 222y v oflaallat il aed B 4. Re 2aue 2 12 A il Z llli:mll Zwalru; and The Story of My Experiments with Truth
) 3. Hind Swaraj and Glimpses of World H
" . Py pses 'orld History
Ll Auedl 14 53 Rt et 8 ? s 4. Hind Swaraj and Thoughts on Pakistan
(A 1242 (B) 12413 Which of these statement/s Is/are correct?
(©) uA2 Dy | (A) 1and 2 (B)1and3
. o 9 C) Only 2 D) Only 3
162, 1919+11 STRUIAIA U9 Setshs W FAUHER [Bidla’l sla gt ? ) Bl
N :
1. Auid sada 2. 54 28U 162. The Britishers responsible for the Jallianwala Bagh Massacre of 1919 were:
3. e SR 4. 9mAa, adlt 1. Robert Clive 2. Michael O'Dwyer
2ude 141 sg/su a8 7 3. General Dyer 4.M..L. Darling
@12 B22i4 | Which of the above name/s is/are correct?
( 2
)3 R I A)1and2 (B)2 and 4
¢ ’ | (€) Only 3 (D) Only 4
i . [ ; .
163, dla WHT [Qa '{1’1.11 [afﬂ'ﬁ;"l ) ! g " | 163. Consider the following statements regarding Chola Kingdom.
1. diiert opedla 2R Rulw Ula wasl gL s w.«g d. . ! e ThmivesvisertimeropkaD larar s it by Clr
i 2. vzl Hedld 51 ‘lm'a 2yt A4 AL gL s el ¢dl. | 2. The famous bronze Nataraja idol was commissioned by Cholas.
3.l 2trdan it -l viadge ol s 3 Aol wll Al Al 210ua sdl, ’ 3. One of the biggest setbacks for the Chola dynasty was its lack of naval force.
auila 14 54 Renrysu Rl a8 ? | Which of the above statements is/are correct?
g |
A)1,2 (B3 | B1,3
©23 D123 | ©)2,3 (D1,2,3
164, allusumar’ (Desinamamala) 2 A% cevvueien g1t 2 2nedl. ; 164. Desinamamala is a treatise written by
(A) YR (B) 8uls | i (A) Surdas (B) Hemachandra
¢ (C) Tholkappiyar (D) Kumarapala
(C) dlesteflur (D) §HIRWN p
165, Riy vilall woudt (Civilization)#i i VA su A vig AR et ? 165. Which of the following were the port towns of the Indus Valley Civilization?
1. suaisie 2. ullaau 3 éam 1. Balakot 2. Khirasa 3. Kuntasi
allou [Rsen e 53l Select the correct answer code:
: ' A)1,2
@12 ®1,3 @i
©)2,3 ®1,2,3 ©)2,3 D123
, P camLas s . i
166, 202l 204 Anr 2l 56 Al dloy A Auddl 8 ? 166. Match the following organization with their founder
1. s A dlo (laflud wldy dlay) : aluiase oiud 1. Social Service League: Gopalakrishna Gokhale
2. 022 g SRt dluud] : 3. A .ﬁan ’ 2. Servants of India Society: N M Joshi
3.8[R44 4 Qi 3. Indian National Social Conference: M G Ranade
. SR Hae ellua slrsaea s An.e, 2l B
dlou [t wai 59, Select the correct answer code:
W13 ' @A)1,3 ®23
’ B)2,3 (C) A3 ®)1,2 (C) 3 only D)1,2
: _ . =
| [csP-1] [Contd. [csP-1] tero. B
|
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167.

Suardt uel onord - Re-il i &l
1. A slwat 419 e g s 20l odl

2, WA 65 L3l YuRet ST AL Sdll.
3. At 2rlsRar Hud Aalui HaR ol AR A ol AW W 9,

regarding R; i System.

167 Consider the f(lll()\\'lng TS

1. [t was introduceq by Thomas Munro

T —
2. The ownership rights were handed over to the peasants
3. Major areas ) s

i of introduction include Madras, Bombay and parts of Assam.

/ :
Which of the above statements isfare correct?

B®1,3

Guait 14 54 Rury/su Rl 4 9 7
(A)1,2 ®B)1,3 ©€)2,3 01,23 A2
: o ©23
168, 1911 6oL UL S1-ll 121 RE SRAME e P :
) s el ®a e 168. Partition of Bengal was revoked in 1911 by
(C) dl§ w8t (D) A s (A) Lord Minto B) Lord Hardinge
(C) Lord Chelmsford
169, iyl sueuel Felltia uun yad SHIRA cvvevenns Sell. (D) Lord Curzon
(A) Al HSd (B) Hidl weee 169. The first Mughal building with complete marble facing was
(©) gyl Hseidl (D) Sexe-Ge-2laitl usoid () Tug Mahal (B) Moti Masjid
(C) Humayun’s tomb B
170, AR 193000 {11 S1AEL SR dioAR eda3ud sag 2y A s ? | (D) 1tmad-ud-Daulah’s tomb |
A) ), 2. Rgwiu Q&(‘tlé‘ (B) A€ eronutandl 170. Who organised a march on Tanjore coast to break the Salt law in April 19307
(O 2. sy ® Al A2 (A) V.0. Chidambaram Pillai (B) C. Rajgopalachari
(C) K. Kamaraj :
" . (D) Annie Besant
171, A2 14 g dou QA Aside 4l ? ;
(4) Sorr-uget - Bea ® ma—ugél— Gae-Ga-Re 171. ~Wluch of the following is not correctly matched?
(©) @t i — Ly 4 (D) Alads — SRt (A) Ibn Battuta - Rihla [[(B) Al-Masudi - Kitab-ul-Hind |
(C) Hiuen Tsang - Si-Yu-Ki (D) Megasthenes — Indica
172, 3104 56 AAf2A dlou 4d Adell el ? .
- S 172. Which of the following pairs is/are not correctly matched?
1.5yl dRia-ug Dance States
2 acdl S 1. Kuchipudi Tamil Nadu
3. 6RAUAY dfRanug 2. Sattriya Assam
dloy Rsen yais 590 2 Guiz udl 3:Bharamatyam Tamil Nadu
y Select the correct answer using the code given below:
(Ayue1 %13 B U213 :
©uA1 12943 (A) 1 and 3 only (B) 2 and 3 only
; : ; ®)1,2and3
173. A0 04 26 A oy A AsAD B ? .
(4) o0 Azt s s 2 (Bri2 vdeL) 173.  Which of the following is correctly matched?
(B) Aad# iR (dmc-{-t@ (A) Rock Shelter of Bhimbetka (Uttar Pradesh)
(C) %d2 Het2 (ﬂ’ﬂld) [ (B) Airavatesvara temple (Tamil Nadu) ]
[WERKI(E (Ql‘ﬂ?llvl) (C) Jantar Mantar (Gujarat)
m\ (D) Sun Temple (Rajasthan)
CSP-1
iesr [Contd. [csP-1] N s |
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— | -

iess SRR dgefui Ad-n Q- idl. With reference ¢ .
i, et i 174 ) € to cultyry| history of India, consider the following statements:
1. 121 eeordl cuarRey Rl 2 g et gfini silF ldl ©. 1. Most of the Ty
2. a1 aeu Aat At 2 3,
3. vt 2 RRErH s gt

afgarnj . i
Baraja Kritis are devotional songs in praise of Lord Krishna.
2. Tyagaraja created seyeral new songs

3, Annamacharyy ang Tyagaraja are contemporarics,

4, area Ad+ A e ds2u-l gl aifF o0l Q- 4. Annamacharya Kirtangg gre devotional songs in praisc of Lord Venkateshwara.
Guet 4 su Rl 2 6 2 Which of the above statements are correet?
(A)Hi 1943 B2 A4 (A) 1 and 3 only
(©1,2913 D)2,3u14 ‘ (C)1,2and 3 ()2, and 4

175, 410yt 2 AN 2aguni A aelsl tes merd 8, 3 3l Yo Rz A e sisaAl asudl ¢l 8, i 175. In this special theatre form, two narrators perform the play where the theme mainly revolves
Qe | around Lord Shiva. It js
() eashu (w1Rw) ®) W (salzs) 5 (B) Maach (Karnataka)
(C) wi (swa) (D) susf (saies) (C) Maach (Haryana) (D) Daskathia (Karnataka)

176. D24 R Luui . 176. Consider the following:
1 daga 2. nawAn 3. 4eid ; 1. Sanskrit 2. Malayalam 3. Kannada

. 4243 5. .44 i 4. Telugu 5. Tamil ‘

Guat 14) 56 cwrulA uBre (classical) Gl 13 @R s2eumi 2udl 6:7 Which of the above have been declared as classical language?
(A)],z,M:HS B 1,325 k A)1,2,4and 5 (B)1,3and 5
©2,324 (D) Gulsd auiH f (C)2,3and 4

177. 021 A4 5 yeets A ayglla garewsudl e >0t 8 ? 177. Which of the following texts preaches Vasudhaiva Kutumbakam?

(A) cuszial (B) Yl (A) Brahmanas (B) Puranas
(C) ueL Gulue D) de (C) Maha Upanishad (D) Vedas
178, Dd-1 U4 &8 A dloy A A 4 ? 178. 'Which of the following is not correctly matched?
(A uia RigiRst — sl ; (B) wta Mgt — Veiicle (ot Rsur) | (A) Panch Siddhantika - Grammar (B) Madhava Nidana — Pathology
(C) iy — dgidl pllan (D) %25 2[Rt —Aclu (C) Lagadha — Vedanga Jyotisha (D) Charak Samhita — Medicine
179, gt 38t 28R 25 Yeged d2eu wnzouvg €lu 8 ? 179. Under the Lunar Calendar, 1 Muhurta comprises
(A) 150 Rz (B) 60 ARz (A) 150 minutes (B) 60 minutes
©450R2 (D) 48 (af2 (C) 45 minutes (D) 48 minutes
180, ‘wetadl 4a ﬂ‘t"g' k"d ? 180. Who had written ‘Ashtadhyayi’?

Wasld (B) WA (A) Valmiki

(©de cuy (D) Yuida (C) Ved Vyas (D) Shukadeva

sz [csP-1] [Contd. T [csP1] [PT.0. E
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071.

072.

a [CSP-1]

Explanation 1s given at the last

ey -

25 7683, Al A5t bl el PQRS Hid], PQ AR A 727 Q.3 AAs4 i Aqlvudqgm.

oo g2 2 204 6. ol oudl 23t Rzl WRAR 32l udl?
(B) 88+ 121

(D) 6uRlsd U4 A5 wL adl

(A)86+121
(C) 68+ 14n

(2 rua, 07224 073) A s, A Rttt 21 A gl Al e 8., aH ¥ 158l g2 8

3 ond R 4/ 51 e ] el s A wgad O,

Radl:

I q el 8.
11 Jecus el owu 9.
dieel :
Lodadsouus,
1. s elsiow 8,

13 14 w2 Rseu waie 53, : »
(A) $5d AR T 243 B, (B) &5 dRRUIT 23 8., -
©A T MuR B, (D) A A4 A6 wgug el - o

[Contd.

071.

072.

(SN} Wy ay sy o

From a rectangle PQRS of area 768 sq cm, a semi-circular part with diameter PQ and area
72n sq cm is removed. Then what is the perimeter of the leftover portion?

(A) 86 + 121 (B) 88 + 121
(C) 68 + 147" (D) None of the above
(Direction : Question No. 072 and 073) In both the questions, two stat and two 1

are given. You have to decide which conclusion / conclusions follows / follow logically to given
statements.

Statements:

I. All horses are elephants

I1. Some elephants are cows
Conclusions:

I. Some horses are cows.

IL. All horses are cows.

Choose the right option from below.
(A) Only conclusion I follows

(C) Both I and II follow

(B) Only conclusion II follows
[ () Neither of them follows |

[CSP] 61~  [PTO.
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073.

N

074.

075.

07

&

07

b

078.

[Qul

L 3ecus uHut Ay 8.

11, ot e aga 8.

el :

I Beaus agn uued &

I 32dis adn yxan dl

11 3eeus Al agn 8.

A1 4]l [@sed uaig $3l.

(A) &5 R0 T AR B.

(C) &5 AR T 24 11T gl 8.
Asellond sgrell 2zt A agnl A-iseill w153 11 ALAN 8. A dudl Buopedl Al
15 A €l dl d 4] Her 2wt agall Bl yeir dl ad?

(Ay2:1 B)3:1

©)4:1 (D) Gulsd U4l 25 ur il

25 udlanui 245 @l 10 Rensfl2il-n 132ua 3401 60 9. A -t uia Qenello 1 4w LA - A 214,
ol gl Renelfol-u q31a 921 5 ect 4ot aa B, wiat A% 40 21 Heau 321100 O, A e & 3
ASua Reuedl 1wzt el el A Aairit uia Rendlol WA 635 Rendllal waa via0 yals o Ana
<l dl Al ay yo Ana-z Qenellu wenx Jean ya ag O?
(A 88 (B) 95 (C)99

s 2ifl1t dfd as w3l 8. 20 as 2l ;dell 2i47 16 sarsui vuell 59 u3 6. sl 2if el (3l
dly, R 26440 A5 10 vilaarni 21 B, B 6 @22 1A sens 63 wiell 03 & 24 A A1 ¢4 204 24

sensHi vudl a8, dl 2i4 &t 32l wal?

(B) w1 diel gl O,
(D) ¥sua dra vgug dl.

(D) 100

(A) 144 [22 (B) 96 [422
(€ 248222 (D) Gulsd U4 25 v 1l

A0 G252 3+ 41 5 eilazal 1ol B, ol s o eueden] udafll alvar s yuilvani akizael 1)

ez 5:4:3 ud?

(A)z:1 ®2:3 (©3:1 D)3:4

D4 U sy R / s Qe 2 92

31 19 38 1
| § e il =
05, 5= 7 LA w93 8.

4. .3
(")g 217 7 daaLa, 129,

(111) A 4Rouzu ivarei-l 3. §la 1 6la 8.
(A) 3t (1) 3 11y (B) 3= (D A ()

(©) it (1) 4 (1) (D) et i 8,

¥l [CsP-] [Contd.

073. Statcments;

I Some cubes are squares.
IL. All cubes are circles.
Conclusion;

I. Some circles are cubes.

1. Some circles are not cubes. WI‘Ong
I11. Some squares are circles.

Choose the right answer from below:
(B) All conclusions follow

(A) Only conclusion I follows
(D) Neither conclusion follows

(C) Only conclusions IT and I1I follow

The sum of the areas of two circles, which touch each other externally, is 153 I sq em. If the sum

074.
of their radii is 15 cm, then what is the ratio of larger to smaller radius of those circles?

(B)3:1

Ayz:1
(D) None of the above

075. The average score in an examination of 10 students of a class is 60. If the scores of the top five
students are not considered, the average score of the remaining students falls by 5. The pass mark
is 40 and the maximum mark was 100. It is also known that none of the students failed. If each of
the top five scorers had distinct integral scores, what is the maximum possible score of the topper?

(A) 88
(€)99
076. There is a leak in the bottom of the tank. This leak can empty a full tank in 16 hrs. When the tank
is full, a tap is opened into the tank which intakes water at rate of 6 L per hour and because of that

the tank is now emptied in 24 hr. What is the capacity of the tank?

(A) 144 Litres (B) 96 Litres

(C) 248 Litres (D) None of the above

The number of oranges in three baskets are in the ratio 3 : 4 : 5. In which ratio the no. of oranges

(D) 100

07

)

in first two baskets must be increased so that the new ratio becomes 5: 4: 32
B)2:3 ©3:1 D)3:4

Which of the following statement/statements is/are correct?
38, 1

31 19 3
(D) H.C.F of 97 and TR

078,

®

4 3
I < and 7 is 12
(I1) L.C.M of s and - is
(I11) H.C.F of two prime numbers is always 1
(B) (II) and (111) only

(A) (1) and (II) only

(C) (1) and (I11) only
[CSP-1]
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079.

=

080.

081.

082.

083.

084,

085.

086.

E [CSP-1]

fuairtt 28
19 isefl 315 AgeH 21 4, 6, 10 43 15 43 oudtesti 20d dl 638 qui 2 A Al 8. dl A vl

wrawd 2dl e ?

(A)3 ®)5 ©)4 D)6

25 dlzdl Rz Sl BBz dlu a zicuaru 0.2 8. 4 4 R(E2 whteami 2 dl, vl Il As
RRz w2 S-um 1 AL dioua-n edl?

(A) 0.3964 (B) 0.5904 (D) 0.7804

(C) 0.6824

56 MR BAAAR cueAi sl weia e sil ?
(A waadl

(B) uswsidl el

(C) At g2yl (Instrument of Accession)

©) Birt el 1]

sl 20an s Qi 43 seemi wudl ?
(4) 1919 (B) 1920
(€) 1930 (D) 1947

REEIEELEIRTICIR

2341 Rl AL 1A $T[ASAAA Iyt 13l (secret society)d st ...
() el ol (B) LA AwaRs
(©yugea wit (D) &1 Rig

adleRl A%l AU AL (1863 - 1939) 3 W25 Fu2L tsl F4i DAl wnde wa .
1. b0 o4 sy wARUH

2. 2[R 1 U512 RN

3. Wg Raaryrda 2RRu

4, A ARIRSEL M2 Hsd 2 39U Muslu Riea

Gyt 04 sy Rarysu Rl et 8 ?

(A)HA 1 ®)1,2,4

©)1,2,3 (D) Gulsd di

HeR aeaneus w2d oo weleal dsn 5232 Gavaa [A3g vied Widy Agea s i
ed?

[EVEUIEE] (B) vuglae

© Wt (D) vilaug

56 PR st viaold 16l 12012 1966-41 3or el Az 2 a o) ?
[ENEEAERIERE (B) 53¢ 2l ufy

(C) 6 you Rin wfiR (D) et L1 Al wRR

[Contd.

079.

080.

081.

082.

083.

084.

085.

086.

The least |?|‘|mhcr of six digits, which when divided by 4, 6, 10 and 15, leave same remainder 2 in
each case. Then what is the sum of the digits of that number?

(A3 B)5

6

The probability of a lottery ticket being a prized ticket is 0.2. When 4 tickets are purchased, what
is the probability of winning 2 prize on at least one ticket?

(80396
(C) 0.6824 (D) 0.7804

By which policy the British eliminated the French influence in India?
(A) Doctrine of Lapse (B) Subsidiary Alliance

(C) Instrument of Accession (D) Policy of Non-interference

In which year was peration t was | hed?
(A) 1919 (B) 1920
(C) 1930 (D) 1947

“Abhinava Bharat” a sccret society of revolutionaries was organized by
(A) Khudiram Bose (B) V. D. Savarkar
(C) Prafulla Chaki (D) Bhagat Singh

Sayajirao Gaekwad (1863-1939) of Baroda state enacted a set of social reforms which includes
1. Infant Marriage Prevention Act

2. Local Sclf Government Act

3. Hindu Widows Remarriage Act

4. Free and compulsory schooling to all citizens

Which of the statements given above is/ are correct?

(A) 1 only (B)1,2,4

) 1,23 (D) All of the Above

At which place Sardar Vallabhai Patel, under Gandhi's guidance led the farmers against the

collection of taxes?
(B) Ahmedabad

(D) Borsad

(A) Champaran
(C) Kheda
Haryana was formed on first November, 1966 on the recommendation of which committee?
(A) Sardar Patel Committee

(B) Fazl Ali Committee

(C) Sardar Hukam Singh Committee

(D) Lal Bhadur Shastri Committee

[csP-1l rero.
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101, GAMAWRBS. MAY Al euell 8. Y

CRATIEED SR R:

. dl O A Gl s Aviadl

Addl 87
(A) Rt B) Y2
(C) Wl ®) HURdl 20yl &
[CSP-1] [Contd.

101.

W) & anu o

G is the husband of M. M is the sister-in-law of Y. Y is the son of couple O and X. How is O

related to G?
(A) Father
(C) Mother

(B) Son

(D) Data inadequate

[CSP-1] [PT.0. E’I
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(i it d 1028 107) : 31 Rl s1reoyds o 59 13 A4 e sl G Ul

L RS,T, UM V4 neRL aal3anil 9, % e was wadl 233 ve, s, fl Redl, flasq,
: % zigfm 2 il 5004 53 8, @ suigeu2 e A 73l el Aall Anru 2dd g W 2t
ﬂ:ﬂ’ et Guelot 53 9 01, 3, B, usse, wuds, 12 A Y, B S0gUR dlad %%él.-uﬂ.
M:A el et 5t 52l 2ol B A3 i paugdl 53 6 A Aol st 52 . P AN
:3 3. oinat U U 86 i st 52 Wll. F it slasanl s 439 4 yusd w2 Hléa-ﬂ_
@qul;ui 9. 0 ysd w2 el Gudlat 53 8. @ Rl Guela 53§ A YouSui 24 9. B uerund
o 29 2 gl 2 aluell Guelat g2l el S yausdl w2 dsard Guila 53 8. % quAlui s
529, 413 el ot sl At V e 2 ltud Guallan 52 8, R 313 ol GuedloL 52l
adl. T ot st 52ell el @ i Al Redlui 23 & d syl Guadlat sl -l

02, Pyl 2 223056 fadl Gula 53 87
@ (B) R
(© wds (D) R 530 s )

103, RIANA 58 rowdd s1n 53 7
Ay 4§ud (B) Slasal
© Rl (D) we

104, D204 Ao yedl 2 eud sl Guallay 53 37
AT (B)S
©Q D)yu

105, S92 A s admi s 53 B2
[OERTE) (B) Slaisdy
© 44§ )l Bed)

106, DU 5 Asg g 87 )

(A) Q-4 - 512 B)V- ﬁf’{ﬁ _o
0 S-dl Bedl -y (D)U_';mm_g:‘

107, Vapued i D04 s wsiel Guedlon 53 9 2
A @y
(C) widsey (D) i

108, 15 2l e, ¢ Pt 3]l At ety ctofets 43t i 9, 4 p QL Brsur 4000 B30l €y, ) 200
Baucedg s -0 w1l 1000 Rl viad Seg agradl?

(A) 256 Bau (B) 128 B
(C)3200 By (D) GuRlsr 1A B\5 ugy )
22 [CSP]

[Contd.

E—

* [)irecltions + (Question No, 102 to 107): § ,
questions given helgy; F21udy the foltowing information carefully and answer the

PLQR S T,Uangy
New Delhi, Kolkata, Lu?lr(::):e:fl:):r:-’ns Working in seven different cities viz Patna, Mumbai,
They use different modes g rc; Ndigarh and Chennai but not necessarily in the same order.
Ship, but not necessarily in the same v $ viz; Bus, Train, Acroplane, Cycle, Bike, Car and
person who uses Train tg trayel " "4-$ I not working either in Kolkata or in Patna. The
works in Mumbai. The pey S Fha"digarh- P works in Lucknow. Neither Q nor U
One who uses Acrop] p ‘ son ‘.'h" works in Kolkata uses Bike to travel. Q uses Bus to travel.
Plane works in Mumbai. The one who works in Patna doesn’t use Ship as the

mode of travelling, S yseg
ing. S uses cycle to travel, One who works in Lucknow neither uses Ship nor Train.

V uses Ship to travel. R doesn’t use ei i
%2 3 either Train or Bike. T doesn’t work j i
who lives in New Delhi doesn’t use Ship. l .

ach their place

102. P uses which of the following modes of trayel?
(A) Ship (B) Car
(C) Bike (D) Cannot be determined

103. R works in which of the followi g places?

(A) Mumbai

(B) Kolkata
. (C) Delhi (D) Patna

104. Who among the following uses Bike to travel?

(AT ®)S

©Q MU
105. S works in which of the following cities?

(A) Chennai (B) Kolkata

(C) Mumbai (D) New Delhi

106. Which of the following is matched correctly?
(A) Q - Patna - Car
(@ S - New Delhi - Ship

(B) V — Mumbai - Bus
I (D) U - Chandigarh — Train

107. V uses which of the following modes of travel?

(A) Train

(C) Cycle (D) Bus

108. The weight of a body varies inversely as the square of its distance from the centre of planet P,
If the radius of P is 4000 kms, how much would a 200 kg object weigh 1000 kms above the surface

of the planet P?
(C) 3200 Kg (D) None of the above

[csP-1l rro. EH
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109.

110.

112,

113.

114,

115

116.

22

5 suelMl d d 43 8,

s i 3L 32,445 s R Gl A B A AR AU, il :
24 sy e 847

o cnngell €2 13% o R el €l da, e A g2 © HRA g €y, dl gad
(B) 314,419

(A) 3L 4,281 .
(D) Gudsa WA s wa

(© 35014

s 2?29 U2 23 WAL W2 7% 1 A5 €3 Hag g A, A% 2 R 7% 1 E3 19 R

ugte 52l 1. 672 F2d ay B. dl d 61 &8 ¢ d?

(A) 3L 28600 (B) 3. 26880
(C) 3..28880 (D) 6usd VA A w1l

X YA Zad 3 1174 172 13 ¢ 14 - eleail adaard wed, avazsdl 21 3+ 4w gelnra
qdaqini »1d 8. dl Sl ueu aie gl 24 Z2al?
(A)X, 3128

©)Z 325

2 wflselz 1EIHE M (upstream) 6 (33l SR 59 wvitdr Big u2 33 MRz urd 53 8. el
neug 2 Bal/sasl ol afd 53 9. dl d 2lseila) Raz wigllai sy 3edl ¢dl?

(A) 21 Blsaus (B) 22 Ball/scus

() 23 Bllseuns (D) Guilsd WA 215y adl

(B)Y,31.20
(D) GuRsr U4 25 u@ Al

14 20l M diadL 25 woiasa As sief lueuni sueg, SSua 41 tiR1o 10 wedlal Asuid d s
uR 13 3 Hefu3 sl aduellui wreels 2dau dlend), AR el st adzed 24 A4 503
£25 u0u Rl 4 MRz W s 5. A 510210 MRz yal i €l ) § yeu 32g ¢d? (Ane
35 oull auar Asuull widl dl)

A 60 BRz B) 210 AR

(©) 150 Pf2 (D) Gulsd U4l 25 yar ]

02 Sellni vid) 2ivan 2l

789, 645, 545, 481, 440, 429, 425

(A) 440 (B) 425

(€) 645 (D) 545 i

A5 vl dvisn -l dos 21 A3l 213 A bt A (external diameter) 8 23 8, A dlvise ag
8t Al dlu 243 W ug vt 3.696 o e ol Al 2 Bosu (internal radius) 32l 617

(Ay2.75 A (B)3 a0

(C)3.25 A0 (D) BuRls U4 A5 ug ]

8241 24 420l uyon siveaiadl (odd numbers) 4L Mt 1 w2 4 aian 32l udl?
[ENERERIEET)] ®)1

©)2 (D) Rfud 53} 4 iy

[P [Contd.

109.

110.

11

A man borrows Rs, 32,445 , .
e 445 at compound intrest and pays back it in three equal, half-yearly
installments. If the rate of interestis 13- 0y, or g s
total interest paid? 3 per annum, compounded half-yearly, then what is the
(A) Rs. 4,281 (B) Rs. 4,419

C) Rs.5,014 —
© ? (D) None of the above
Thcss]lmpl'c Interest on certain sum of moncy for 23 months at the rate of 7% per annum exceeds
the ST on the same sum at 7% per annum for 19 months by Rs. 672. Then what is the sum?

(A) Rs. 28600 (B) Rs. 26880

(C) Rs. 28880 (D) None of the above

Instead of dividing Rs. 117 among X, Y and Z in the ratio 1/2 : 1/3 + 1/4, by mistake it was divided
in the ratio of 2 : 3 : 4. Who gains the most benefit and by how much?

(A) X, Rs. 28 (B)Y, Rs. 20

C) Z, Rs. 25 (D) None of the above

112. A speedboat runs 6 km upstream in a river and comes back to the starting point in 33 minutes.

113.

The stream of the river is running at 2 km/hr. What is the speed of speedboat in still water?

(A) 21 kmph (B) 22 kmph

(C) 23 kmph (D) None of the above

A work was given to a manager who had 14 members in his team. At any moment of time exactly
10 bers worked si Iy on the work. Since the manager had to be fair in his task
allocation, he allocated the work among the members in such a way that each member performed
on the work for exactly ‘t” minutes. If the work was completed in 210 minutes, then what is the
value of ‘’? (Assume the efficiency of each of the members of the team is the same)

(B) 210 minutes

(D) None of the above

(A) 60 minutes

C) 150 minutes

114. Find out the wrong number in the series:

115. A hollow iron pipe is 21 cm long with external diameter 8 cm. If iron w

116. What is the difference between mean and

789, 645, 545, 481, 440, 429, 425
(B) 425

(D) 545

(C) 645

eighs 8 gm/cm® and weight

of the pipe is 3.696 kg, then what is its internal radius?

(A)2.75 ecm (B)3cm
(C)3.25cm (D) None of the above

median of odd numbers between 8 and 247

B)1

_. |
Eé; th e (D) Cannot be determined
Pro. B3
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117.

118.

119.

120.

7 230l Bioret 24 30 ) S As2 341 76 A3l x 46 Al x 45 A0 yRwad doilRa WA
st 2 . dl 01 i wgrtn 2l v 3 ydl asdl?
(4) 19 (B)20

(€)21 (D) Gulsd WAL 25 Uzt 4l

Q aging 3w 2ot B e du-l Boraell @i 2 B wA 5 A0 B, dl 2 21 il gt azdl
Qadizg A=sa 324 ud? |
(A) 66 ALA
(€) 21 LA
A 2ilssat AvAi QsL A dzell % v MR s o e 6, Asu s ElsL R Ast & R
e s 89 260 8. A ol wR et oLl 2iva 70 Gl dl, el v zed) ¢d?

®) 12
(D) Gulsa L4 A5 vt 1l

(B) 97 A AH
(D) Gudls U4 A watdl

(A) 14
©) 18
Myl Goll &, & Wl el d2s 53 20 M2z 1d B, gl Wlewed) 1ol eieg $3 Yt: 20 Moz 4
& 21 Wt sl ag &3y 20 122 A B, ueue $AN Wlardl opll a2s 53 40 e A O
2 212 5914 Wl el azs 49 40 M2z 204 8. dl Ay oAl 58 Rawi O?

®ud

A4) 6
(D) el

(C) ulan

117.

118.

119.

120.

Cylindrical cang "
- *:rmlllllﬂ of 7 em and height of 30 cm are placed in a rectangular box of dimension
5 cm. What is the maximum number of cans that can fit in the box?

(VR LY
© 21

(B) 20

(D) None of the above

Two circles of sa .
me center have radius of 2 cm and 5 cm respectively, Then what is the area of

region between larger and smaller circles?

(A) 66 sq cm

(C)21sqem

(B) 9 sq em
(D) None of the above

A certain number of horses and an equal number of men are going somewhere. Half of the owners
are on their horses’ back while the remaining ones are walking along leading their horses. If the
number of legs walking on the ground is 70, how many horses are there ?

(B) 12

(©)18 (D) None of the above

M is facing East. Turning to his right he walks 20 m, then turning to his left again he walks 20 m
and then turning to his right again 20 m, then again turning to his right he walks 40 m and finally
again he walks 40 m turning to his right. In which direction is he from original position?

(B) East

(A) North

(D) South
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181, 3l roalui 12 avildlail 9z e
3 quiiflodl daini 20d, dl dul e
(€)5/144

F  (Zu:un-d 1824184 el €3
2t 5/ su [@aet/ @l vala 8.

182, 3 Buopar o il aga M, Bt n° z_uﬂ-u agen N A viaradl 87
R (1) - & el Asollnd &5t s [Big w2 2l 8.

RuL 2) -4l M AN L 34l a2y i m—n .
() R (1) s vl 8, uig Rut (2) Asg uaedl g 2nal qu\d el
[ Rt @pieg v ©, wig Rt (1) 36 il gt sl ), ‘
(© ti RuAL (1) w1 2) g2 waiedl pttet e i walie 9, udq A4 sldua Qui B¢ sl

ogaton 2t vl el
()Rl (1) 3 @) A5 wneAl U Al a2 vl ), 2w Aeifd el ulRd

%348

A APyt ol Rualadi Asidn 12 siR ada Qud s 214 8. dl d eua vl Al

quid g g A deua-t 2241

[ (1) - A ML QUL AT A [t o Al e 0.28 9.

R4 (2) - 401 R ot o Al iouan 0.60 6.

(A R (1) Dlsg waia B, udg Rt (2) 2lse uael st L yuid =4l

(8) Bt (2) Asq wult 8, udg R (1) s el a2 vala 4l

(C) 4id 14 SlSue [ s uadl g v e vaid 9. |

@) Rl (1) 212 @) tsaud wadl ey et 12 valhd ol 213 w1 206iRd awell wRd
%34 8.

184, 28 ‘Season’ 56 A Addores saawwi sucdl 7
[A4urt (1) : “Season change by nature’ 4 4 8 129 d13 2i3dtith s2cumi el © A1 <Change is law
nature’ ‘5 12 24 4 4913 A3dut s wen 8.
[3411 (2) 2 *New scason came today’ A 7 9 51 35" A3dot s2a1ui 2uedl 8 214 “Today change came
tomorrow’ A ‘21 35 12 19" ad13 A3dss sHi 2 O,
) R (1) A sg waita 8, uig R (2) 21s¢ uairl s 2uual yald -,
(B) [t (2) Asg wala B, udg B (1) 2sg uaedl ganet wuvan vl -ell,

yrasll 49 (without replacement)

sofl, ot auidl
g sl 3 ALY w ol wd Al ziouar 32

o), @l 21 cua et suui A
(B) 1/60 :
(D) Gualsd A4 2As ugdl

5 A Rl w0, i 3 8l seaug 8 & e et g

183.

| (©) 1 Rl (1) 217 (2) 950wt areanet a2 vl B, uig 6 141 ASue Rt 1sg uardl
Ao Wg) v 44,

® m;{l‘:b(l) A (2) A58 daedl gt il 12 vala 4, 213 uad iR quell WRd
%3

[csP-1] [Contd.

181, A jar contains 12 mayy) ; 4 red, 5 blue

182.

183.

184.

and 3 orange. If 3 marbles are taken out of it without

replacement, w .
: » What s the probabllity of getting all three colours in the order of blue, orange,
% s

respectively? red
o B) 1/60
(C) 5/144 £

(D) None of the above

Directions 182 - :
(“ . oy .82 184): For each two statements are given, you have to decide which statement /
statements is / are suflicient to answer the question.

Does the circle M with radius ‘m? touch cirele N with radius ‘n’ internally?

Statement (1) : The two circles touch cach other at only one point

Statement (2) : The distance between centres of circles M and N is m—n

(A) Statement (1) alone is sufficient, but statement (2) alone is not sufficient to answer the question

(B) Statement (2) alone is sufficient, but statement (1) alone is not sufficient to answer the question

(C) Both statements (1) and (2) together are sufficient to answer the question asked, but neither
statement alone is sufficient to answer the question asked

(D) Statements (1) and (2) together are not sufficient to answer the question asked, and additional
data specific to the problem are needed

Twelve independent trials are run, testing the reliability of a new engine part. What is the .
probability that the part will fail less than half of the time?
Statement (1) : The probability that the part will fail three times in six trials is 0.28
Statement (2) : The probability of the part not failing is 0.60
(A) Statement (1) alone is sufficient, but s.tatemcnl (2) alone is not sufficient to answer the question
(B) Statement (2) alone is sufficient, but statement (1) alone is not sufficient to answer the question
(C) Either of the statements (1) and (2) alone are sufficient to answer the question
(D) Statements (1) and (2) together are not sufficient to answer the question asked, and additional
data specific to the problem are needed

How is the word ‘Season’ coded?

Statement (1) : ‘Season change by nature’ is coded as ‘4 8 12 9" and ‘Change is law nature’ is
coded as ‘51224 4°,

Statement (2) : “New season came today” is coded as ‘79 51 35’ and ‘Today change came tomorrow’
is coded as ‘213512 19",

(A) Statement (1) alone is sufficient, but statement (2) alone s not sufficient to answer the question
(B) Statement (2) alone is sufficient, but statement (1) alone is not sufficient to answer the question
(C) Both statements (1) and (2) together are sufficient to answer the question asked, but neither
statement alone is sufficient to answer the question asked

ot sufficient to answer the question asked, and additional

[PTO. E
e

(D) Statements (1) and (2) together are n
data specific to the problem are needed

[CSP-1]
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186.

187.

188.

189.

190.

191.

o ¥

“,”3 Imc;l: z:u:l 4 women Wworking together, can carn Rs. 4200 in 7 days; while 11 men and 13 Wome,
working together, ean eqry R, 16600 in 8 days, Then in what time 7 men and 9 women cap l‘ar:

Rs. 19250?
(B) 14 days

(A) 10 days
(C) 18 days (D) None of the above

A m"’k is filled by 3 pipes with uniform flow, The first two pipes operating simultancously fill the
tank in same time during which the tank is filled by the third pipe alone. The second Pipe fills the
tank 5 hours faster than the first pipe and 4 hours slower than third pipe. In what time first pipe
alone can fill the tank?
(A) 15 hours

(C) 21 hours

(B) 18 hours
(D) None of the above

A clock is st right at § a.m. on Monday. The clock loses 16 minutes in 24 hours, What will be true
time when clock indicates 10 p-m on Thursday of the same week?

(A) 11. p.m. (B) 11.15 p.m.

(C) 11.30 p.m (D) 11.45 p.m

A pair of fair dice are rolled together, till a sum of either 5 or 7 is obtained. What is the probability
that the sum 5 happens before sum 7?

(A)0.35 (B) 0.38

(€)0.4 (D) None of the above

A shopkeeper buys 12 toys and labels each with the same selling price. He sells 8 toys initially
at 20% discount on the labelled price. Then he sells the remaining 4 toys at an additional 25%
discount on the discounted price. Thus, he gets a total of Rs. 2112, and makes a 10% profit. With
no discounts, his percentage of profit would have been how much?

(A) 50% (B) 54%

(C)56% (D) None of the above

The wheels of bicycles P and Q have radii 30 cm and 40 cm, respectively. While travelling a certain
distance, wheel of P required 5000 more revolutions than wheel of Q. If bicycle Q travelled this
distance in 45 minutes, then how much was its speed, in km per hour?

A) 1211 (B) 1411
©) 1611 (D) None of the above

Three friends J, K and L are given a bowl with some marbles in it. J took one-third of the total
marbles but put back four marbles in the bowl. Then K took one-fourth of the remaining marbles,
but put back 3 marbles in the bowl. After that L took half of the remained marbles, but put back
2 marbles in the bowl. At that time 17 marbles were left. How many marbles were there originally

in the bowl?
(A) 42
(C) 54

(B)45
(D) None of the above

[P.T.O.E
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' (A) 75%
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194. '
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B

Train T leayes stati X ain
S § 0] d ionYat3
T, leaves Y fo i N X for station Y at pm. Train S, travelling at quart the Speed g
) ) ’
pm. The two traing pass each other at station Z, where ¢ st t .
s Y for X at 4 t s Ween

X and Z is three-fifth of
1 of th e . 3 :
from:X {o? at between X and v, How many hours does train T take for its journcy

(A) 15 hours

(C) 21 hours () 18 horats

(D) Nonc of the above

30% of the m
Hr: o th are more than 25 years old and 80% of the men are less than or equal to 50
years t - 20% of all men play football. If 20% of the men above the age of 50 play foothal,
ercentage . Y K
percentage of the footbal) players are less thap or equal to 50 years? at
(B) 77.5%
(D) None of the above

docitive i . ! (i . ’
Positive integers from 1 ¢q 45, inclusive are placed in 5 groups of 9 each (not necessarily in
that order). What is the highest possible average of the medians of these 5 gr(;upé? 2 o

':A)Z:ﬁ ) (B) 26
(©)31

(D) None of the above

"For the following geometric series what would be its 10 term?

IR | 1 1

168077 2401° 343 49’

J(D=4D g U (Bylsas
(€)=~ 2401 o { gt 3

(D) None of the above

If-the first, second and last terms of thé Arithmétic Progression ‘are 5, 9, 101, respectively, how
many total number of terms are there in the Progréssion? ** =

)24 S (B)26 !

(C)28 . ! I . (D) None of the above

If a journey of 120 km is done by train and the rest by, car, then it takes 8 hours for total 600 km -
‘journey. And if 200 km is done bytrain and the rest by car, then it takes 20 minutes more. Then
what would be the ratio of the speed of the train to that of the car?

(A)4:3 + ' ®)4:5

D)5:4

. The ratio of length of each Equ:il side to third side of an isosceles triangle is 5 : 6, If the area of the
\ n

isosceles trianglé is 108 sq. cm and the third side of the triangle is equal to the diameter of a circle,

what will be the area of the circle (in sq. cm)?

(A} 81n (B) 1447
(C) 112z (D) None of the above
[CSP-1] [PT.O. E
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